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3. The question asks for the correction needed for an error in the sentence.

A. Incorrect. When a place name has more than one element, a comma is used to separate the 
elements for clarity.

B. CORRECT. The sentence needs a comma to set off the clause “which is considered one of 
the ‘new’ Seven Wonders of the World,” because the clause is not essential to the meaning 
of the sentence (nonrestrictive clause). This option is correct because it places a comma 
where it is needed, after “Italy,” to set off the nonrestrictive clause that follows.

C. Incorrect. This edit would remove the comma at the end of the nonrestrictive clause, which 
should be set off by commas at the beginning and the end.

D. Incorrect. A comma after “built” would separate the predicate “and once could hold up to 
50,000 spectators” from the subject of the main clause. The predicates “is the largest 
amphitheater ever built” and “once could hold up to 50,000 spectators” both relate to the 
same subject (“The Colosseum in Rome, Italy”), so a comma should not be used to 
separate the second predicate from that subject.

EWSA17182_EXP_4

4. The question asks for the revisions that are needed to correct errors in the paragraph.

E. Incorrect. The revisions introduce new errors. The colon after “wonder” is needed to set off 
the question “what is the difference between the two?” from the rest of the sentence. In 
addition, changing the verb “is” to “are” would be incorrect with the use of the singular 
noun “difference,” which is the subject of the question.

F. Incorrect. The revisions introduce new errors. The comma following the introductory phrase 
“To start with” helps with clarity and is needed to separate the phrase from the rest of the 
sentence. Changing “it is” to “they are” would be incorrect with the use of the singular noun 
“butterfat content,” which is what the words “it is” refer to in the sentence.

G. Incorrect. The revisions introduce new errors. The comma following “process” is necessary 
to set off the nonrestrictive clause “which adds less air to the frozen treat” from the rest of 
the sentence. This clause is considered a nonrestrictive clause because it provides 
additional, but not essential, information about the mixing process. Changing the verb 
“makes” to “make” would be incorrect with the use of the singular noun “mixing process,” 
which is the subject of the sentence.

H. CORRECT. Deleting the comma after “gelato” would include the clause “and allow it to melt 
more quickly” with the first part of the clause “which enhances the texture and flavor of the 
gelato.” The word “and” between the two verb phrases (“enhances the texture and flavor of 
the gelato” and “allow it to melt more quickly”) indicates that the two verb phrases share a 
subject, “which” (referring to the act of serving gelato 10 to 15 degrees warmer than ice 
cream). The two ideas should not be separated by a comma within the clause. The entire 
clause “which enhances the texture and flavor of the gelato and allow it to melt more 
quickly” should be separated from the main clause only by the comma after “cream” 
because the entire clause is a nonrestrictive clause. This clause provides additional, but not 
essential, information about the purpose of serving gelato at a warmer temperature than ice 
cream. Changing the verb “allow” to “allows” is also necessary to match the use of the 
singular pronoun “which.”
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REVISING/EDITING PART B
EW00451701_EXP_2

The Free College Debate

5. The question asks which sentence should replace sentence 3 to best state the topic of 

the passage.

A. Incorrect. Although this sentence mentions that “several states have implemented 
scholarship programs,” it does not clearly introduce the topic of the passage, which is 
differing opinions about and approaches to solving the problem of the cost of college.

B. CORRECT. This sentence best replaces sentence 3 because it clearly states the topic of 
“determining the most effective way to make college affordable.” It also provides an 
introduction to the “differing opinions” of proponents, who believe that states should provide 
low- cost or free tuition, and opponents, who believe that such state programs are 
“unsustainable” (sentence 8).

C. Incorrect. This sentence mentions the role of higher- education institutions in helping 
“reduce the cost of a college education” for students, which is a idea discussed in 
sentences 14 and 15 in the passage. Although the sentence provides details to support the 
topic of the passage by referring to “ways to help students avoid paying for unnecessary 
classes and materials,” it does not state the topic, which is differing opinions about and 
approaches to solving the problem of the cost of college.

D. Incorrect. Even though this sentence mentions “college affordability,” it is primarily focused 
on a problem that is related to, but different from, the issue discussed in the passage. The 
passage is concerned with “the price of higher education” (sentence 2), not how tuition 
rates “affect the quality of the education [students] receive.”

EW00451702_EXP_2

6. The question asks where the sentence should be added to best support the ideas in the second 

paragraph (sentences 4–7).

E. Incorrect. Sentence 4 introduces the main idea of the second paragraph (making college “a 
financially realistic option for those who aspire to obtain a degree”) and should not be 
preceded by the added sentence, which focuses more narrowly on the specific ways that 
some states are implementing that idea.

F. CORRECT. The added sentence provides a proposed solution to the issue stated in 
sentence 4, that “a college education should be a financially realistic option.” Sentence 5 is 
an example of the programs discussed in the added sentence.

G. Incorrect. Sentences 5 and 6 offer examples of state governments providing “low- cost or 
free” tuition. The added sentence introduces this idea in the second paragraph and should 
come before these specific examples are provided as evidence.

H. Incorrect. Sentence 6 provides an example of the state government of Tennessee providing 
“low- cost or free” tuition, and sentence 7 further explains the opinion of those in favor of 
such programs (“a step in the right direction for making college affordable”). However, the 
ideas in sentences 6 and 7 follow from and support the idea in the added sentence. 
Therefore, the added sentence should be placed before sentences 6 and 7, which help 
elaborate its idea.
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7. The question asks which sentence presents information that shifts away from the topic of the 

third paragraph (sentences 8– 13) and should be deleted.

A. Incorrect. Sentence 9 explains that scholarship funding comes “from the state’s budget, 
which primarily comes from state taxes.” Sentence 10 logically follows the idea in 
sentence 9 by explaining that “as more students choose to attend college, more funds will 
be needed to cover the costs.” Therefore, sentence 10 should not be deleted, because it 
does not shift away from the topic of the paragraph.

B. CORRECT. Sentence 10 makes the claim that “as more students choose to attend college, 
more funds will be needed to cover the costs.” Sentence 11 shifts away from this topic by 
focusing on how switching majors or working affects students’ ability to finish college, 
rather than on the additional funds that will be needed for scholarship programs. Therefore, 
sentence 11 should be deleted.

C. Incorrect. Sentence 9 states that scholarship program funding comes “from the state’s 
budget, which primarily comes from state taxes.” Sentence 10 points out that “as more 
students choose to attend college, more funds will be needed to cover the costs.” 
Sentence 12 elaborates on the critics’ opinions discussed in sentences 8– 10. It reflects the 
belief that the “circumstances” described in sentences 9 and 10 “will inevitably lead to an 
increase in taxes, a decline in the quality of the education offered by the schools, or both.” 
Thus, sentence 12 should not be deleted, because it does not shift away from the topic of 
the paragraph.

D. Incorrect. Sentence 13 refers back to the “critics” mentioned in sentence 12 and expands 
on the critics’ concern about increased taxes mentioned in sentence 12 by stating that 
“narrower college- affordability efforts . . . may be more effective and viable solutions.” 
Therefore, sentence 13 should not be deleted because it logically follows the ideas in 
sentence 12 and serves as a concluding sentence for the paragraph.
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8. The question asks which phrase should be added before sentence 14 to best transition to the 

ideas in the fourth paragraph (sentences 14– 17).

E. Incorrect. Sentence 13 summarizes the viewpoint of opponents, who believe that targeted 
approaches to funding education “may be more effective and viable solutions,” and 
sentence 14 serves to introduce how “faculty and students at higher- education institutions 
can work to keep costs down.” Affordability is “a complicated issue,” but the use of the word 
“Because” suggests that the ideas that follow in sentences 14– 17 will explain a cause- and- 
effect relationship. However, sentences 14– 17 discuss ways faculty and students should 
work together to keep the cost of college down while waiting for a long- term solution to the 
problem, not a causal relationship.

F. Incorrect. Sentences 4– 13 provide information about the viewpoint of proponents, who 
believe that “a college education should be a financially realistic option for those who aspire 
to obtain a degree” (sentence 4), and opponents, who believe free college programs are 
“unsustainable” (sentence 8). Although the phrase in this option mentions “opinions,” it 
indicates that the fourth paragraph will discuss why the number of opinions makes 
affordability a debatable issue. Instead, the fourth paragraph discusses ways faculty and 
students can help keep costs down until a solution is reached.

G. CORRECT. Sentence 13 summarizes the viewpoint of opponents, who believe that targeted 
approaches to funding education “may be more effective and viable solutions,” while 
proponents “generally believe that these [government] programs are a step in the right 
direction for making college affordable” (sentence 7). However, sentences 14– 17 offer three 
possible solutions that could alleviate the problem in the meantime. Therefore, the phrase in 
this option should be added before sentence 14 to best transition to the ideas in the fourth 
paragraph because it suggests that until the issue of affordability is resolved, alternatives 
are available to help make a college education more affordable.

H. Incorrect. This phrase mentions “college affordability,” a topic discussed in the fourth 
paragraph. However, the ideas introduced in the phrase do not logically lead into the ideas 
discussed in sentences 14– 17, because the phrase mentions “programs [that] have been 
successful,” whereas the paragraph states that “faculty and students at higher- education 
institutions can work to keep costs down” (sentence 14) and that colleges “should account 
for experience by allowing students to demonstrate their knowledge in order to avoid having 
to pay to sit through classes on subjects they have already mastered” (sentence 16). Use of 
the words “can” and “should” in these sentences indicates that the actions or programs 
mentioned in the paragraph have not been completed.
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9. The question asks which concluding sentence should be added after sentence 19 to support the 

topic of the passage.

A. Incorrect. Although sentence 15 cites “increased access to computers, mobile devices, and 
the Internet” and states that “there are more opportunities for students to take courses 
online, thus reducing the need for and cost of maintaining physical classrooms,” the primary 
topic discussed throughout the passage is that state and federal governments, not faculty 
and students, must resolve the issue of college affordability. Therefore, the sentence should 
not be added after sentence 19, because it does not support the topic.

B. Incorrect. Sentence 5 presents the example of the New York State legislature, which 
“passed a bill creating a program to cover the tuition costs for nearly one million students.” 
Sentence 12 states that critics of this type of program believe that certain circumstances 
“will inevitably lead to an increase in taxes” or other issues such as low- quality education. 
However, the idea that these types of programs may lead to new problems is not thoroughly 
discussed in the passage. Therefore, the sentence should not be added after sentence 19, 
because it does not support the topic.

C. Incorrect. Although sentence 7 states that scholarship programs are helpful “for students 
who would have had to take out loans or who would have decided not to pursue higher 
education at all,” the passage does not state that many students will stop pursuing higher 
education until the affordability issues are solved. In fact, sentence 14 states that there are 
ways faculty and students can “work to keep costs down.” Therefore, the sentence should 
not be added after sentence 19, because it does not support the topic.

D. CORRECT. The sentence in this option should be added after sentence 19 to support the 
topic because it acknowledges that the issue of college affordability discussed throughout 
the passage is not “resolved” but that when it is, students will be able to make decisions 
about attending college without concerns about cost. Sentence 18 states that “the solutions 
to the problems associated with rising college costs are not simple,” and sentence 19 adds 
that “passing legislation that boosts college affordability will take time,” ideas, and planning.
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READING COMPREHENSION
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Excerpt from “Impressions of an Indian Childhood”

10. The question asks how the phrases “cool morning breezes swept freely” and “wafting the 

perfume of sweet grasses” affect the tone of paragraph 1 in the excerpt.

E. Incorrect. Although the author describes in paragraph 1 the setting of her childhood 
experiences, the positive wording of the phrases the author uses in the paragraph (“swept 
freely” and “perfume of sweet grasses”) does not suggest a tone of sadness the author feels 
when she reflects on her former way of life.

F. Incorrect. Although the phrases “cool morning breezes swept freely” and “wafting the 
perfume of sweet grasses” used in paragraph 1 create a positive tone, the phrases do not 
suggest an enthusiasm for the author’s work but rather suggest an appreciation of the 
peaceful beauty of her childhood.

G. CORRECT. In paragraph 1, the phrases “cool morning breezes swept freely” and “wafting 
the perfume of sweet grasses” are used to describe where the author’s childhood 
experiences took place. The phrases create a tone of fondness and evoke a feeling of 
happiness through their lyrical sensory detail: “swept freely” suggests a sense of joyful 
possibility, while “perfume,” “sweet,” and “cool” convey delight.

H. Incorrect. Although the author describes her mother’s beadwork lessons as “confining” in 
paragraph 7, the phrases in paragraph 1 do not suggest that the author feels conflicting or 
mixed emotions toward her work and her mother. Instead, the phrases convey a positive 
tone by affectionately describing the author’s childhood home.
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11. The question asks how the author’s use of sequence in paragraphs 1 and 2 contributes to the 

development of ideas in the excerpt.

A. Incorrect. In paragraph 2, the author does list the steps her mother takes in preparation to 
do beadwork, such as “untying the long tasseled strings” of the bag of beads, spreading the 
beads beside her on a mat, and using “a long, narrow blade” to trim the buckskin into 
shape. However, the language used to describe this sequence does not indicate that 
preparing to work with beads is difficult or complex.

B. Incorrect. Although the author’s description of untying the bag of beads, spreading the 
beads upon a mat, smoothing out a sheet of buckskin, and trimming the buckskin into 
shape in paragraph 2 indicates that the mother follows a certain routine, it does not place 
any emphasis on working most efficiently by following the steps of the beading process in a 
precise order.

C. Incorrect. In paragraph 2, the author describes her mother “untying the long tasseled 
strings that bound a small brown buckskin bag,” “spread[ing them] upon a mat beside her 
bunches of colored beads,” “smooth[ing] out a double sheet of soft white buckskin; and 
drawing from a beaded case that hung on the left of her wide belt a long, narrow blade” to 
trim the buckskin. Although these descriptions do outline the steps in her process for 
creating beadwork, they do not emphasize the time required to do so, since the author does 
not mention in the excerpt how long it took her mother to fully prepare for and complete the 
large and small tasks in the activity of beading.

D. CORRECT. In paragraph 1, the author describes how the morning begins with her mother 
rolling up the canvas of the wigwam and allowing the breeze to come in. In paragraph 2, 
the author uses sensory language and precise sequencing to describe the way her mother 
prepares the beading materials by untying “the long tasseled strings that bound a small 
brown buckskin bag,” spreading the “bunches of colored beads” beside her, and smoothing 
out “a double sheet of soft white buckskin.” This combination of sequence and sensory 
language highlights the author’s enthusiasm for beadwork by emphasizing that the author 
pays close attention to her mother’s preparations.
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12. The question asks what the phrase “just as an artist arranges the paints upon his palette” in 

paragraph 2 suggests in the excerpt.

E. CORRECT. In paragraph 2, by comparing the way her mother arranges the beads to the 
way a painter “arranges the paints upon his palette,” the author emphasizes that her 
mother approaches her craft just as a painter does, thus suggesting that beadwork is a true 
form of art.

F. Incorrect. Although the author mentions “bunches of colored beads” in paragraph 2, this 
detail does not provide enough evidence for the idea that color inspires beadworkers. The 
phrase “just as an artist arranges the paints upon his palette” indicates the connection of 
beadwork to other forms of art in general, not necessarily to the specifics of color as a 
source of inspiration.

G. Incorrect. In paragraph 2, the author describes her mother “untying the long tasseled 
strings” and then spreading “upon a mat beside her bunches of colored beads.” However, 
the phrase “just as an artist arranges the paints upon his palette” does not suggest that all 
artistic activities begin with a series of steps. There is no mention in the passage of any 
other artistic activities involving multiple initial steps.

H. Incorrect. In paragraph 2, the author describes how her mother “spread upon a mat beside 
her bunches of colored beads” as the first step in the artistic process described in the 
passage. Therefore, the comparison between the mother’s process and a painter arranging 
paints on a palette suggests that the mother is creating art, not imitating it. There is no 
indication that the mother is copying a technique she has seen in other art forms.
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13. The question asks how the details in paragraph 3 convey a central idea of the excerpt.

A. Incorrect. In paragraph 2, the author mentions how her mother “worked upon small 
moccasins for her small daughter” and when she did, the author “became intensely 
interested in her [mother’s] designing.” However, in paragraph 3, the author is interested in 
her mother’s work mainly as part of her “lessons in the art of beadwork,” not because she 
knew her mother was making something for her.

B. Incorrect. In paragraph 3, the author receives “practical observation lessons in the art of 
beadwork” and describes how “from a skein of finely twisted threads of silvery sinews my 
mother pulled out a single one” and “pierced the buckskin, and skillfully threaded it with the 
white sinew.” The author describes the process in such detail that she provides no indication 
that she had difficulty learning through observation. The author also does not give any 
indication in the paragraph that she wanted to help her mother; she was there merely to 
observe and learn.

C. Incorrect. Although the author refers to her beading lessons with her mother as “practical 
observation lessons in the art of beadwork” and indicates that she sat “close beside” her 
mother while observing her beadwork, the author provides no indication in the paragraph 
that she was determined to behave according to her mother’s standards or that she sought 
her mother’s approval.

D. CORRECT. In paragraph 3, the author describes her mother’s artistry and craftsmanship by 
using language such as “skillfully threaded,” “picking up the tiny beads one by one,” and 
“twisting it carefully after every stitch.” These close observations indicate that the author 
greatly admired her mother’s mastery of her craft and the precision that went into every 
detail of her work.
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14. The question asks how the author distinguishes her point of view from that of her mother.

E. Incorrect. In paragraph 4, the author explains that “it took many trials before I learned how 
to knot my sinew thread on the point of my finger, as I saw her do” and that the “difficulty 
was in keeping my thread stiffly twisted, so that I could easily string my beads upon it.” 
Although this explanation describes the author’s difficulty in performing the same task as 
her mother, it does not distinguish her point of view from that of her mother. In fact, they 
seem to share the same point of view regarding the importance of the technique the author 
is attempting to learn.

F. CORRECT. In paragraph 5, the author distinguishes her point of view from that of her 
mother by describing their approaches to beadwork design. In the paragraph, the author 
states, “I usually drew easy and simple crosses and squares” and “My original designs were
not always symmetrical nor sufficiently characteristic, two faults with which my mother had 
little patience.” The author also distinguishes her point of view from that her of mother by 
stating that “the quietness of [my mother’s] oversight made me feel strongly responsible 
and dependent upon my own judgment.”

G. Incorrect. In paragraph 6, the author states, “My mother cut off the prickly ends and burned 
them at once in the centre fire. These sharp points were poisonous, and worked into the 
flesh wherever they lodged. For this reason, my mother said, I should not do much alone in 
quills until I was as tall as my cousin Warca- Ziwin.” Although these instructions explain the 
importance of having experience and skill when working with quills, they do not distinguish 
the author’s point of view from that of her mother.

H. Incorrect. In paragraph 7, the author describes her beadwork lessons as “confining” and 
states that she liked to roam “over the hills” with her playmates after the lessons. However, 
she makes no mention of her mother in paragraph 7; the activities and ideas stated there 
belong to the author, not the mother.
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15. The question asks which sentence best describes how the sentence from paragraph 7 fits into 

the overall structure of the excerpt.

A. Incorrect. Though the author feels humiliated “when some boldness of mine drew forth a 
rebuke from” her mother (paragraph 5) and characterizes her lessons with her mother as 
“confining” (paragraph 7), the overall passage does not portray a demanding relationship 
between the author and the mother. The shift introduced in the sentence from paragraph 7 
is not from one of the author’s relationships to another; it is from work to play.

B. Incorrect. In paragraph 6, the author explains how working with porcupine quills is difficult 
because the “sharp points were poisonous, and worked into the flesh wherever they 
lodged.” Although this sentence suggests that working with porcupine quills was 
challenging, the sentence from paragraph 7 does not signal a change from the challenging 
aspects of life on the reservation to the advantages of living on the prairie. Most of 
paragraph 6 describes the author’s pleasure in creating designs in different colors.

C. CORRECT. In the sentence from paragraph 7, the author refers to her beadwork lessons as 
“confining” and states that after the lessons, she “was wild with surplus spirits” and “found 
joyous relief” in being outside and running around. The phrases “surplus spirits” and 
“joyous relief” highlight a sense of freedom that stands in strong contrast to the “confining” 
nature of the author’s beadwork lessons, which required intense focus and control.

D. Incorrect. In paragraph 7, the author describes how “many a summer afternoon” after her 
beadwork lessons, she and her friends used “a light sharpened rod” to gather “sweet roots” 
and “little crystal drops of gum.” She then explains that they later “tossed away our gum, 
to return again to the sweet roots.” However, the sentence from paragraph 7 does not 
conclude the progression of events in the narrative by describing the sequence of events at 
the end of the author’s day; the sentence appears at the beginning of paragraph 7 and 
provides a contrast with events from the previous paragraph.
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16. The question asks which sentence best summarizes the process of beading that is described in 

the excerpt.

E. Incorrect. In paragraphs 2 and 3, the author describes how at the beginning of the process 
her mother “smoothed out a double sheet of soft white buckskin” on a lapboard 
(paragraph 2) and how she strings the beads into a pattern. However, this sentence does 
not describe the steps that take place between the preparation and the stringing of the 
beads. Thus, this sentence does not best summarize the beading process.

F. Incorrect. In paragraphs 2 and 3, the author describes the process her mother uses to 
string the beads with “the point of her thread, always twisting it carefully after every stitch” 
(paragraph 3). While this sentence includes some of the steps in the beading process, it 
does not describe the necessary preparation, namely spreading the beads and the buckskin 
out on a table. Thus, this sentence does not best summarize the beading process.

G. CORRECT. This sentence best summarizes the process of beading that is described in the 
excerpt because it includes details about each step in the process. In paragraph 2, the 
author explains how her mother “spread upon a mat beside her bunches of colored beads” 
and how “on a lapboard she smoothed out a double sheet of soft white buckskin; and 
drawing from a beaded case that hung on the left of her wide belt a long, narrow blade, she 
trimmed the buckskin into shape.” The author continues her description in paragraph 3, 
stating, “From a skein of finely twisted threads of silvery sinews my mother pulled out a 
single one. With an awl she pierced the buckskin, and skillfully threaded it with the white 
sinew. Picking up the tiny beads one by one, she strung them with the point of her thread, 
always twisting it carefully after every stitch.”

H. Incorrect. In paragraphs 2 and 3, the author describes the process her mother uses as she 
“smoothed out a double sheet of soft white buckskin” (paragraph 2) on a lapboard before 
stringing the beads. While this sentence includes most of the steps in the beading process, 
it excludes the step of piercing the buckskin. This sentence also provides few details about 
the process of beading and uses vague wording to describe each step. Therefore, the 
sentence does not best summarize the beading process.
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17. The question asks how the idea that mastering moccasin design and creation requires 

experience is best illustrated in the excerpt.

A. CORRECT. In paragraph 6, the author states that when she became more familiar with 
elements of design, “a harder lesson was given me.” According to the author, sewing on 
porcupine quills is a much more difficult task to master because it requires experience in 
handling the poisonous porcupine quills, which is why her mother told her not to “do much 
alone in quills” until she was older (paragraph 6). This information best illustrates the idea 
that mastering moccasin design and creation requires experience.

B. Incorrect. Although the author provides detailed descriptions of the materials used to make 
decorated moccasins (“colored beads” [paragraph 2]; “a skein of finely twisted threads of 
silvery sinews” [paragraph 3]; “tinted porcupine quills, moistened and flattened between 
the nails of the thumb and forefinger” [paragraph 6]), these descriptions do not illustrate 
the experience that is needed to gain mastery of moccasin design and creation.

C. Incorrect. Although the author describes the color combinations she used in making 
moccasins (“I was pleased with an outline of yellow upon a background of dark blue, or a 
combination of red and myrtle- green. There was another of red with a bluish- gray that was 
more conventionally used” [paragraph 6]), this information mainly illustrates the author’s 
satisfaction with her moccasin design, not the importance of experience in mastering the 
creation and design of moccasins.

D. Incorrect. In paragraph 7, the author tells of using a sharpened rod to spear gum from 
trees. She explains that she and her playmates used the rods to “[pry] up certain sweet 
roots” to find the gum. The detail of the sharpened rod is from a recollection about the 
playtime that followed the “confining lessons” of moccasin making. However, the sharpened 
rod was not used to create moccasins.
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18. The question asks how the table after paragraph 7 expands on a central idea in the excerpt.

E. CORRECT. The table provides the chronology from the 1500s, when the Dakota created 
beadwork using “beads made from bones, shells, stones, and animal teeth,” to the 1830s, 
when the Dakota began “using glass beads,” and the 1900s, when they created items to 
“sell outside their community.” Thus, the table helps expand on a central idea by showing 
that the craft the author was learning is a tradition that has endured through many 
generations.

F. Incorrect. Although the table shows that the Dakota used “beads made from bones, shells, 
stones, and animal teeth” in the 1500s and that by the 1830s began “using glass beads in 
clothing, artwork, and decorations in place of Native- made beads,” it does not provide any 
information about the type of materials used by the author’s family.

G. Incorrect. While the information included in the table states that “European traders 
[brought] glass beads to North America” in the 1500s and that by the 1920s the Dakota 
created “items to sell outside their community,” there is no mention of whether the 
uniqueness of Dakota beadwork was recognized in Europe.

H. Incorrect. The table indicates that by the late 1600s the Dakota began trading with French 
traders from Europe who brought glass beads to the Americas and that by 1830 the Dakota 
were “using glass beads in clothing, artwork, and decorations in place of Native- made 
beads.” However, the table provides no information about whether this work incorporated 
color. Therefore, the table does not show that the author was able to incorporate color into 
her craftwork as a result of trade with other peoples.
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At Dusk

19. The question asks for the best textual support for the idea that the neighbor’s actions in calling 

the cat directly affect the speaker of the poem.

A. Incorrect. Lines 1– 2 show that the speaker has noticed the neighbor’s calling and guessed 
the reason for it. The speaker at first believes that the neighbor is “calling a child,” but then 
the speaker notices a sound associated with the time of day— the “street lamps just starting 
to hum / the backdrop of evening” (lines 3– 4). However, the poem does not describe any 
direct effects on the speaker’s own opinions or behavior caused by these aspects of the 
surroundings.

B. Incorrect. The “high- pitched wheedling” sound the speaker mentions in line 5 might be 
assumed to have an annoying effect. However, the poem includes no indication that the 
sound has any direct effect on the speaker or that the speaker has any personal reaction to 
the sound. Instead, in lines 6– 7, the speaker concentrates on explaining the reason people 
make the sound: to communicate with “animals who know only sound, not / the meanings 
of our words.”

C. Incorrect. In lines 20– 21, the speaker actively listens “as my neighbor’s voice trails off,” 
which could be interpreted as an effect of the neighbor’s call. However, the speaker’s 
listening soon comes to an end because the neighbor has “given up calling for now,” and the 
poem does not describe any direct effects on the speaker’s own opinions or behavior caused 
by listening. Therefore, lines 20– 21 do not best support the idea that the neighbor’s actions 
directly affect the speaker of the poem.

D. CORRECT. In lines 25– 26, after observing the neighbor calling the cat, the speaker begins 
to reflect on the speaker’s own behavior and motivations, wondering if, like the neighbor, 
the speaker “might lift” the speaker’s voice to call someone who is surely “out there.” The 
speaker’s description of being left “to wonder” indicates that the speaker’s thoughts are a 
direct effect of observing the neighbor’s efforts to call the cat.
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20. The question asks how the isolation of the words “— here here—” in line 7 mainly contributes 

to the meaning of the poem.

E. Incorrect. The words “— here here—” do interrupt the speaker’s observation in lines 7– 8 
that “our words . . . / . . . sometimes fall short.” However, in lines 5– 7, the speaker 
observes that the neighbor accompanies her words with a “high- pitched wheedling” that 
people “send out” because they are aware that animals “know only sound, not / the 
meanings of our words,” indicating that the neighbor does not actually expect her words to 
be understood. The description of the cat’s response in lines 10– 11 (“the cat lifts her ears, 
turns first / toward the voice, then back”) does not suggest that the neighbor’s message is 
misunderstood but rather suggests that the cat prefers not to respond to it.

F. Incorrect. In lines 20– 21, the “neighbor’s voice trails off,” and she does give up calling the 
cat. However, rather than any desperation to connect, the neighbor’s use of a “high- pitched 
wheedling” (line 5) simply indicates her understanding that the cat, like other animals, 
understands “only sound, not / the meanings of our words” (lines 6– 7) such as “here here.” 
Furthermore, the neighbor does not give up quickly. In lines 21– 22, the speaker says the 
neighbor has “given up calling for now” but is still “waiting” for the cat.

G. Incorrect. In lines 4– 7, the speaker describes the neighbor calling to the cat with a “high- 
pitched wheedling.” The sound may indicate a bond between the neighbor and the cat 
because the neighbor does understand that animals “know only sound, not / the meanings 
of our words” (lines 6– 7). However, the use of the words “here here” in line 7 do not 
indicate that bond, because they are used as an example of the type of words that animals 
do not understand.

H. CORRECT. The speaker’s initial thought in line 1 that the neighbor is calling a child, rather 
than a cat, suggests that the neighbor loves and misses the cat. Lines 4– 7 then present the 
speaker’s observation that the neighbor uses a “high- pitched wheedling,” to emphasize the 
simple words of her call, “— here here—.” The idea that the words are an example of a 
simple expression used to call home a missed loved one is reinforced in lines 25– 29, when 
the speaker is “left . . . to wonder” whether the speaker, too, “might lift / [his or her] voice” 
and be able “to call someone home.”
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21. The question asks how the details in lines 10– 17 convey a central idea of the poem.

A. Incorrect. In lines 10– 17, the speaker says that the cat’s actions— she “turns first / toward 
the voice, then back”— makes the cat seem “as if she can’t decide” whether to return home 
or to explore “the constellation of fireflies flickering / near her head.” However, while the cat 
is indecisive, it is not the experience of independence that causes this conflict for the cat but 
rather the “luminous / possibility . . . flitting before her” (lines 17– 19).

B. Incorrect. The neighbor’s calling of the cat indicates that she does allow it to roam outside 
regularly. However, the details in these lines focus not on whether allowing the cat to roam 
is an expression of caring but on the cat’s reaction to the neighbor’s calls, “as if she can’t 
decide” (line 13) whether to return home “into the steady circle / of light” (lines 16– 17) or 
stay and enjoy the “luminous / possibility” (lines 17–18) that the night offers. Furthermore, 
the neighbor’s “wheedling” (line 5) and the timing of her call, “at dusk” (line 3), introduce 
the possibility that encouraging others to come home expresses more caring than allowing 
them to roam freely.

C. Incorrect. Lines 10– 17 describe the reactions of the cat, who is exploring the natural world, 
including a “constellation of fireflies flickering / near her head,” when the neighbor calls to 
her. The poet describes the cat’s conflict by saying that “It’s as if she can’t decide” whether 
to stay outdoors or return “into the steady circle / of light” at home with the neighbor. 
However, the cat’s indecision demonstrates that, rather than being a disappointment, the 
natural world is as appealing as home.

D. CORRECT. Lines 10– 11 describe how the cat “turns first / toward the voice, then back,” 
indicating that the cat is experiencing a conflict. To the speaker, the cat seems “as if she 
can’t decide” (line 13) between exploring “the constellation of fireflies” (line 12) outdoors 
and returning to the familiar “steady circle / of light” (lines 16– 17) indoors. This central idea 
that someone might experience a conflict between exploring and returning to the familiar is 
suggested again in lines 28– 29 when the speaker wonders whether “the sounds I make / 
are enough to call someone home.”
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22. The question asks how the phrases “luminous possibility” and “all that would keep her / away 

from home” (lines 17– 19) affect the poem.

E. Incorrect. In lines 20– 21, the neighbor’s voice “trails off,” and the speaker states that “she’s 
given up calling for now,” which could be interpreted as a lack of concern. However, these 
lines describe the neighbor rather than the cat. The phrases from lines 17– 19 are used to 
explain that what keeps the cat from returning home is the allure of “luminous possibility.” 
The use of the phrase “all that would keep her” suggests that the cat would likely return 
home to the security of “the steady circle / of light” (lines 16– 17) if not for the possibilities 
offered by the night, implying that the cat usually prefers to be at home with the neighbor. 
The phrases do not highlight a lack of concern for the neighbor on the part of the cat.

F. Incorrect. While the phrase “luminous possibility” does convey a high degree of interest, it 
is used to describe why being outside at night appeals to the cat. It does not describe the 
speaker’s interest in the cat. The speaker observes the cat as it tries to decide between 
returning home and staying out and then concludes that it is only “luminous / possibility . . . 
that would keep [the cat] / away from home.”

G. CORRECT. The phrases are used to explain that the cat, though tempted to return home, is 
also tempted or compelled by “luminous possibility” to remain outdoors. The phrases 
convey a sense of wonder about what the night may offer, and it is the powerful effect of 
this sense of wonder (“all that would keep her / away from home”) that ultimately tempts 
the cat to remain outdoors rather than return to the comforts of home.

H. Incorrect. Lines 17– 19 present the speaker’s observations about the cat as it tries to decide 
whether to stay where it is or return home. The speaker explains that it is only “luminous 
possibility” that can convince the cat to stay rather than return to the comforts of home. 
While the speaker then imagines the neighbor indoors, there is no indication that the 
speaker supports the cat’s decision. The speaker merely notes that the neighbor stops 
calling to the cat “for now” (line 21), and then the speaker reflects on the possible results of 
calling someone home.



111

ER02361908_EXP_4

23. The question asks which idea the imagery in lines 11– 13 helps convey.

A. Incorrect. Line 13 includes the speaker’s observation that the cat seems “as if she can’t 
decide” whether to stay outside or go to the neighbor. However, the imagery of the 
“constellation of fireflies flickering” in line 12 suggests that the cat does have a preference 
for exploring the more exciting “luminous / possibility” (lines 17– 18) of the outdoors.

B. Incorrect. The imagery in lines 10– 11 of the cat turning “first / toward the voice, then back” 
might seem to suggest that the cat is eagerly watching both the neighbor and the fireflies to 
see what will happen next. However, line 13, in which the cat seems “as if she can’t decide,” 
indicates that what will happen next is actually under the cat’s control.

C. Incorrect. The imagery in lines 12– 13 of the “fireflies flickering / near her head” does 
indicate the fireflies’ unpredictable behavior. However, the imagery in lines 10– 11 of the cat 
turning “first / toward the voice, then back” establishes that the cat’s attention is split 
between the fireflies and the “high- pitched wheedling” (line 5) of the neighbor’s voice, 
rather than being fully captured by wanting to understand the fireflies.

D. CORRECT. The imagery in line 12 of “the constellation of fireflies flickering” suggests that 
the outdoors holds fascinating attractions, an idea supported by the description 
in lines 17– 18 of the cat’s current location outdoors as one filled with “luminous / 
possibility.” The imagery in lines 10– 11 of the cat turning “first / toward the voice, then 
back” indicates that the cat has considered but rejected the option of returning indoors, and 
the description in lines 16– 17 of the indoors as offering only a “steady circle / of light” 
suggests that the indoors seems unremarkable to the cat in comparison to the outdoors.
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24. The question asks how the setting affects the events discussed in the poem.

E. Incorrect. In line 2, the speaker refers to the woman calling for her cat as “my neighbor,” 
which clearly suggests that the speaker lives next door to the woman. However, although 
the two live next door to each other, line 1 suggests that perhaps the speaker does not 
regularly overhear the neighbor because the speaker initially thinks that the neighbor is 
“calling a child” and only later realizes the neighbor is calling to a cat. Although the setting 
places the speaker and the neighbor in close proximity, the poem does not indicate the 
frequency or regularity with which the speaker overhears the neighbor.

F. CORRECT. In the first four lines, the speaker observes the actions of the neighbor as the 
neighbor leans out to call for the cat at dusk. Despite the speaker’s observation of the 
neighbor, there is no indication that the neighbor notices the speaker. The reader can 
conclude that because of the time of day and the speaker being in the house next door, the 
speaker can observe the neighbor without being observed by her or having to 
interact with her.

G. Incorrect. The setting of the poem is a neighborhood at nightfall, as indicated by “at dusk” 
in line 3, the reference to “another yard” in line 9, and the flickering fireflies in line 12. 
However, while the speaker is close enough to the neighbor to overhear her calling to the 
cat, there is no indication that the speaker feels connected to the neighbor. Instead, the 
speaker expresses curiosity about the neighbor after the neighbor goes inside, and the 
speaker is “left . . . / to imagine her inside the house waiting” (lines 21– 22). The fact the 
speaker initially thought that the neighbor was calling a child indicates that the speaker is 
not familiar with the neighbor and her habits, and there is no indication that the speaker 
feels connected to the neighbor.

H. Incorrect. In lines 22– 24, the speaker imagines what the neighbor may be doing while the 
neighbor is waiting inside for the cat to return, but the speaker is imagining the neighbor’s 
solitary experience after the neighbor has momentarily “given up” on calling to the cat 
(line 21). The speaker does not imagine personally interacting with the neighbor but rather 
briefly imagines what the neighbor is doing at home while the cat is away.
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25. The question asks for an explanation of how the poet develops a theme about making 

connections with others.

A. CORRECT. The speaker first describes the neighbor calling the cat in a “high- pitched 
wheedling” (line 5) voice before giving up and returning indoors. The neighbor’s desire to 
have the cat return home prompts the speaker to wonder whether the speaker could call out 
and be “certain the sounds . . . / are enough to call someone home” (lines 28– 29). These 
final lines most develop the theme of connection by conveying a desire to be able to prompt 
someone’s return.

B. Incorrect. Line 1, in which the speaker at first thinks the sound in the neighborhood is the 
neighbor “calling a child,” might be assumed to introduce a theme of making connections 
with others. However, other descriptions of the sights and sounds of the neighborhood, 
including the time of day—“at dusk, street lamps just starting to hum / the backdrop of 
evening” (lines 3– 4) and “constellation of fireflies flickering” (line 12) near the cat— have no 
relationship to a theme of connection.

C. Incorrect. In lines 22– 24, the speaker imagines the neighbor’s activities inside her house: 
“perhaps in a chair in front of the TV, / or walking around, doing small tasks.” Although the 
speaker does imagine the neighbor is doing these things to pass time while “waiting” 
(line 22) for the cat, the neighbor’s actions— and even the speaker’s imagining—are carried 
out alone, so they do not develop a theme of connection.

D. Incorrect. Lines 10– 19 present the speaker’s observations of the cat, which “turns first / 
toward the voice, then back” when the neighbor calls, then appears “as if she can’t decide” 
whether to return to the neighbor or stay outside. Although the cat’s indecision about 
whether to heed the neighbor’s call might seem to develop a theme about making 
connections, lines 10– 19 focus more on the relative appeal of the cat’s two options— 
returning to “the steady circle / of light” at home or pursuing the “luminous / possibility . . . 
flitting before her”— than on any connection between the cat and its owner or between the 
speaker and the neighbor.
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Champion of the Channel

26. The question asks what the newspaper editor’s comments in paragraph 1 reveal about Ederle’s 

challenges leading up to her attempt to swim across the channel.

E. Incorrect. The idea that Ederle was at a disadvantage because she was American rather 
than English, and thus less familiar with the channel, was not the basis for the newspaper 
editor’s comments about the outcome of her swim.

F. Incorrect. The passage establishes that Ederle was a highly accomplished swimmer who had 
won major world competitions (“Gertrude Ederle, an American swimmer with eighteen world 
records and three Olympic medals” [paragraph 1]).

G. Incorrect. The newspaper editor’s point was that Ederle would be unsuccessful in her 
attempt to complete the swim because she was a woman, not that people were
uncomfortable with the idea since no woman had attempted it before.

H. CORRECT. The comments reveal a lack of social support since many people believed that a 
woman, no matter how skilled a swimmer, did not have the strength to overcome the 
physical challenges that the dangerous channel waters presented (“He claimed that ‘even 
the most uncompromising champion of the rights and capacities of women must admit that 
in contests of physical skill, speed and endurance they must remain forever the weaker 
sex.’ ” [paragraph 1]).

ER00751808_EXP_3

27. The question asks about the effect of the word “insurmountable,” which means “incapable of 

being overcome,” in paragraph 4.

A. Incorrect. Ederle did not complete her first swim because she became ill (“Just six miles 
short of finishing, she became ill, and her coach had to haul her out of the water.” 
[paragraph 3]), not because the suit made it impossible for Ederle to complete her swim.

B. Incorrect. The author uses the word “insurmountable” to draw attention to the increased 
difficulty caused by the suit, not to draw attention to the sisters’ creativity in solving 
the problem.

C. CORRECT. The suit Ederle wore during her first attempt to swim the channel “stretched out, 
filling with water and creating drag” (paragraph 4), which likely contributed to her failed 
attempt to swim across the channel.

D. Incorrect. The passage does not address whether the original suit was custom made, simply 
that the suit created additional difficulties for Ederle in a situation that was already difficult.
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28. The question asks how a problem- and- solution structure in paragraph 5 contributes to the ideas 

presented in the passage.

E. Incorrect. The details in paragraph 5 do not provide a connection between the cold 
temperature of the water and the effectiveness of Ederle’s training.

F. Incorrect. The difficulties Ederle encountered were only partially relieved by her team, and 
her team’s efforts to ensure Ederle’s safety are not explained in the passage.

G. Incorrect. The paragraph does not focus on the relationship between the problems Ederle 
encountered at the start of her swim and the problems she encountered during or near the 
end of her swim.

H. CORRECT. The paragraph describes how the water’s temperature made Ederle 
uncomfortable and made it difficult for her to regulate her stroke. The paragraph continues 
with the explanation of how she overcame these issues by focusing her mind on the sea and 
tuning out the distractions in her surroundings (“the sea became her only companion and 
the shrieks of gulls and the humming of boat engines faded away” [paragraph 5]).

ER00751801_EXP_3

29. The question asks for the best support for the idea that Ederle’s swim across the channel was 

successful because of her innovative approach to the challenge.

A. Incorrect. The sentence from paragraph 1 shows that Ederle’s performance was 
groundbreaking but not necessarily innovative.

B. Incorrect. The layers of grease mentioned in the sentence from paragraph 5 primarily 
served to insulate Ederle (keep her warm) by helping her maintain her body temperature in 
the cold water; neither the sentence in paragraph 5 nor the surrounding text evidence 
establishes that this was an innovative practice. Furthermore, the sentence does not show 
that she succeeded as a result of this approach.

C. CORRECT. The sentence from paragraph 5 explains that Ederle employed a newly 
developed, or innovative, type of stroke that allowed her to maintain her pace through the 
rough water.

D. Incorrect. The tugboat carrying Ederle’s supporters referenced in the sentence from 
paragraph 6 likely provided encouragement during Ederle's swim, but the sentence does not 
show that this approach was innovative or that it enabled Ederle's success.
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30. The question asks for an explanation of how paragraph 7 contributes to the development of a 

central idea of the passage.

E. Incorrect. Although Ederle needed to remain focused on her goal, the idea that her physical 
strength and mental fortitude allowed her to maintain this focus is not illustrated in 
paragraph 7. Paragraph 7 instead contributes to the development of a central idea by 
emphasizing Ederle’s emotional responses over the course of her swim.

F. Incorrect. While paragraph 7 describes some of the physical challenges that Ederle faced 
(“The salty water caused her tongue to swell and inflamed her ears”), the statement that 
she “pushed herself to the edge of her physical capabilities” is not the most accurate way to 
describe the focus of this paragraph. This option is incorrect because it omits the 
paragraph’s focus on Ederle’s emotional responses to the challenging circumstances 
of her swim.

G. Incorrect. While paragraph 7 describes Ederle’s feelings of happiness and amusement during 
her swim, these feelings were caused by her anticipation and excitement as she approached 
achieving her goal, not by the severe weather.

H. CORRECT. Paragraph 7 contributes to the development of a central idea by describing 
Ederle’s emotional state over the course of her swim. A central idea of the passage is that 
Ederle’s passion and determination allowed her to accomplish her goal of being the first 
woman to cross the English Channel. Paragraph 7 shows her passion and determination by 
emphasizing the positive emotions Ederle felt as she progressed during her swim, despite 
the unfavorable conditions (“For hours Ederle swam, dodging debris with an amused smile” 
and “Yet Ederle felt indescribably happy as she churned through the sea”).

ER00751811_EXP_4

31. The question asks for the sentence from the passage that best conveys the author’s 

perspective about the impact of Ederle’s swim.

A. Incorrect. Although this option shows Ederle’s determination to accomplish her goal, it does 
not convey the author’s perspective. Rather, the option reinforces Ederle’s own perspective 
about the challenge that she was facing.

B. Incorrect. The sentence presented in this option is incorrect because it relates to Ederle’s 
state of mind as she came closer to achieving her goal and does not provide details about 
the author’s opinion of the impact of Ederle’s accomplishment.

C. Incorrect. The sentence presented in this option is incorrect because it simply presents 
Ederle’s emotional state as she nears her goal and does not provide information about the 
author’s perspective.

D. CORRECT. This option is correct because, throughout the passage, the author emphasizes 
that Ederle’s accomplishment was memorable and great, which is best stated in the 
sentence from paragraph 8.
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32. The question asks for the best summary of Ederle’s steps to prepare for her second attempt to 

swim across the English Channel.

E. CORRECT. Ederle’s preparation is outlined in paragraph 4. This option is correct because it 
acknowledges the idea that Ederle involved her sister in this process, and it details the 
efforts the two took to improve Ederle’s equipment, including sealing her goggles with wax 
and designing a better swimsuit.

F. Incorrect. The option focuses on Ederle’s actions in the moments before her swim (covering 
her body with grease for insulation) and during her swim (finding her “sphere”), not her 
overall preparation methods.

G. Incorrect. The option refers to a way that Ederle’s coach helped Ederle keep her strokes in 
rhythm during her swim. While this option suggests that Ederle and her coach had made 
thoughtful preparations, it does not address the many other steps that Ederle took to 
prepare for the swim.

H. Incorrect. The option does not refer to the series of steps that Ederle took to prepare for her 
swim, but rather to just one of the efforts made (improving equipment), without 
acknowledging her sister’s contributions.

ER00751806_EXP_2

33. The question asks how the idea that many people were interested in Ederle’s attempt to swim 

the channel is mainly illustrated in the passage.

A. Incorrect. While paragraph 3 states that “a rival female swimmer was preparing to make her 
second attempt at the crossing as well,” which suggests that Ederle’s competitor was 
interested in Ederle’s attempt to swim the channel, this information does not establish that 
many people were interested in Ederle’s attempt.

B. CORRECT. Paragraph 6 includes the detail that newspaper reporters followed Ederle on a 
tugboat and “wired dispatches of her progress to shore,” which suggests that an audience 
was waiting for news about Ederle’s progress. Paragraph 8 states that when Ederle reached 
the shore, “the waiting crowd roared, honked their automobile horns, blasted their tugboat 
whistles, and set off flares that flashed in the sky.” Further, paragraph 9 states that when 
Ederle returned to New York, “thousands of people” attended a parade in her honor. These 
details describing the celebration of Ederle’s feat further illustrate the idea that many people 
were interested in what she had accomplished.

C. Incorrect. While paragraph 9 states that “more than 60,000 people credited [Ederle] with 
motivating them to earn their American Red Cross swimming certificates,” this detail 
describes how Ederle’s historic swim influenced people after the fact but does not illustrate 
the level of public interest during the attempt itself.

D. Incorrect. Paragraph 6 provides details about how Ederle’s “coach, family, and friends” 
displayed signs, played songs, and “passed her baby bottles of broth” to help her maintain 
her motivation and stamina. However, these resources do not suggest the idea that people 
beyond Ederle’s immediate support team were interested in her attempt to swim 
the channel.
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34. The question asks how the table mainly builds on the information in the passage.

E. CORRECT. The table supports the information in the passage by showing that people have 
continued to swim the channel and have significantly improved on past records. The 
information in the table about records set by those who came after Ederle builds on the idea 
that “Gertrude Ederle’s accomplishment proved to the world that with determination and 
passion, it was possible for a person to achieve his or her goals” (paragraph 9).

F. Incorrect. Even though paragraph 9 states that Ederle “inspired [everyday American 
citizens] to be more active” and the table presents the time for the current female record 
holder, there is no indication in the passage or in the table that the subsequent female 
record holders were inspired to swim across the channel by Ederle.

G. Incorrect. Although paragraph 3 mentions that Ederle had a female rival and the table 
includes the speed record of another female swimmer, the passage does not provide 
information about other female swimmers competing with Ederle to set the channel- 
swim record.

H. Incorrect. Although paragraph 1 mentions that Ederle “broke the men’s record by two 
hours” and the table allows for comparisons between the earliest speed records and those 
of the present day, there is no mention in the passage of past, present, or future channel- 
swim records. The table allows for comparison, but this aspect of the table does not build on 
the information presented in the passage.
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5 Reasons Physical Books Might Be Better Than E- Books

35. The question asks how the details in paragraph 1 convey a central idea of the passage. A 

specific central idea that needs to be identified in order to correctly answer this question is that 

reading a digital book “might be inferior” (paragraph 1) to reading a traditional book.

A. Incorrect. In paragraph 1, the author notes that despite the popularity of e- books, their 
sales fell in 2015, leading to the author’s statement that “print definitely isn’t dead.” While 
these statements suggest that readers still purchase and enjoy printed books, sales 
information between print and e- books is not compared. Therefore, these details do not 
convey a central idea of the passage.

B. CORRECT. The author states in paragraph 1 that “according to some research,” reading a 
traditional book “may actually be a better choice for some readers” because “digital reading 
affects us differently.” The author then supports this statement throughout the passage, 
detailing five advantages that printed books have over e- books. This detail helps convey a 
central idea of the passage.

C. Incorrect. In paragraph 1, the author refers to printed books as “traditional books” and the 
“dead- tree cousins” of e- books. Although these references suggest that printed books rely 
on natural materials more than e- books do, the author does not provide additional details in 
the passage to convey this idea. Therefore, this detail does not help convey a central idea of 
the passage.

D. Incorrect. Although the author states in paragraph 1 that “traditional books still have their 
evangelists,” the author does not provide additional statistics or details in the passage to 
convey the idea that some people recommend buying printed books over e-books. 
Therefore, this detail does not help convey a central idea of the passage.
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36. The question asks which evidence from the passage best supports the claim in paragraph 1 

that “print definitely isn’t dead.”

E. CORRECT. In paragraph 5, the author points out that “while e- book textbooks are often 
cheaper (and easier to carry) than traditional door- stop textbooks, college students often 
don’t prefer them.” The author adds that “in some surveys of college kids, the majority of 
students have reported preferring print books.” As a result, this evidence from the passage 
supports the claim in paragraph 1 that “print definitely isn’t dead.”

F. Incorrect. In the passage, the author cites several studies that provide evidence that 
younger students “who read on iPads had lower reading comprehension than when they 
read traditional printed books” (paragraph 2). While this evidence supports the benefits of 
using traditional print material, it does not fully support the claim in paragraph 1 that “print 
definitely isn’t dead.”

G. Incorrect. Although the main idea of paragraph 6 is supported by the 2014 study that 
showed that “people who used e- readers with LED screens at night slept worse and were 
more tired the next day,” this detail does not support the claim in paragraph 1 that “print 
definitely isn’t dead.”

H. Incorrect. The author states in paragraph 6 that “staring at a lit screen can be tiring for the
eyes and the brain” and that “reading digitally required a higher cognitive workload.” 
Although these details illustrate how using e- readers can have negative physical and mental 
effects, they do not support the claim in paragraph 1 that “print definitely isn’t dead.”

ER01211801_EXP_4

37. The question asks which sentence from the passage suggests that people in the future will 

likely choose e- books over print books.

A. Incorrect. While this sentence from paragraph 2 implies high engagement with the 
interactive features of e- books, it does not provide explicit evidence indicating that 
engagement with e- books is a reason for choosing them over print books.

B. Incorrect. While this sentence from paragraph 2 highlights some of the benefits of e- books, 
such as the potential to “enhance comprehension,” those benefits are not explicitly linked to 
readers choosing e- books over print books.

C. Incorrect. This sentence from paragraph 3 provides evidence that shows both benefits and 
drawbacks of reading e- books, including higher engagement but a decreased ability to recall 
details. Therefore, the sentence does not clarify why readers would choose e- books over 
print books.

D. CORRECT. In this sentence from paragraph 5, the author cites a 2012 study that found that 
over 50 percent of 8- to 16- year- olds “reported preferring screen reading.” Since this 
specific age group will one day influence the future of reading and the results of the study 
point to a significant percentage preferring screen reading, this sentence provides 
compelling evidence for what readers will prefer in the future.
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38. The question asks for an explanation of the role of paragraph 7 in the overall structure of 

the passage.

E. Incorrect. The purpose of paragraphs 2– 6 is to present reasons physical books might be 
better than e- books, and paragraph 7 offers summarizing “take- away” advice based on 
those reasons. As a result, it may seem as though the author’s purpose for writing the 
entire passage has shifted. However, the author’s advice in paragraph 7, that readers who 
want to learn from reading “might want to go for a physical book,” makes it clear that 
paragraph 7, like paragraphs 2– 6, continues to serve the same purpose for the passage that 
the writer expresses in paragraph 1: to inform readers that printed books “may actually be 
a better choice for some readers” than e- books.

F. Incorrect. In paragraph 7, the author does offer the advice that readers who want to absorb 
material “might want to go for a physical book” rather than an e- book. Even though the 
author makes the statement favoring physical books for those who want to learn from their 
reading, the author is not sharing a personal opinion. Instead, the author offers the advice 
as a summary of the information presented in paragraphs 2– 6, which explore various 
studies about the advantages of physical books over e- books. Furthermore, the idea that 
physical books are sometimes a better option is not introduced for the first time in 
paragraph 7. Instead, it is introduced early in the passage, when the author states in 
paragraph 1 that physical books “may actually be a better choice for some readers.”

G. Incorrect. Paragraph 7 presents a clear shift in style and content from paragraphs 2– 6. 
Paragraphs 2– 6 are each preceded by a heading stating a reason physical books might be a 
better choice than e- books, and each paragraph provides research evidence. Paragraph 7 
shifts to stating a “take- away message”— the author’s advice— which is based on the 
reasons in paragraphs 2– 6. Paragraph 7’s different style and content do not, however, signal 
a change in the author’s position. Instead, the author’s advice in paragraph 7 (“if you’re 
really trying to absorb material, you might want to go for a physical book”) actually 
reinforces the position first introduced in paragraph 1 that physical books “may actually be a 
better choice for some readers.”

H. CORRECT. The author uses paragraphs 2– 6 to present “five ways e- books might be 
inferior” (paragraph 1) to physical books. Each of paragraphs 2– 6 presents one reason for 
the inferiority of e- books, based on a scientific study. Paragraph 7 indicates a shift because 
it describes neither a reason e- books might be inferior nor a scientific study. Instead, it 
presents personal commentary: the “take- away,” or conclusion, the author draws from the 
studies and evidence presented in paragraphs 2– 6. That commentary consists of the 
author’s own practical advice to readers who want to retain information that they read (“you 
might want to go for a physical book”) and to those who are “going to be up all night 
studying” (“turn off the backlight”).



122

ER01211809_EXP_1

39. The question asks which sentence from the passage best reveals the author’s point of view 

about e- books.

A. CORRECT. The sentence from paragraph 1 best reveals the author’s point of view because 
it introduces the author’s argument that “e- books might be inferior,” which is illustrated 
throughout the text.

B. Incorrect. The sentence from paragraph 5 provides a small detail about college students 
preferring traditional books over e- books despite the fact that e- books may seem ideal by 
being “cheaper (and easier to carry).” This statement supports one point made in the text 
but not the author’s broader point of view about e- books in general.

C. Incorrect. In the second sentence from paragraph 8, the author discusses answers to why 
“all this may not mean that reading on a Kindle is really going to melt your brain” and 
compares reading on a Kindle with reading on a computer to explain how they are different. 
The sentence focuses on the experiences with using two types of e- book devices rather than 
on the author’s broader opinion about e- books.

D. Incorrect. In the last sentence from paragraph 8, the author uses the previous comparison 
between reading on a Kindle and reading on a computer to illustrate the differences 
between “playing with an interactive e- book on an iPad” and using “a simpler e- book device 
that only presents the text” and limits distractions. However, similar to the sentence in 
Option C, this sentence focuses on the experiences of using two types of e- book devices 
rather than on the author’s broader point of view about e- books.
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40. The question asks how the findings from the studies described in paragraph 6 are important to 

the author’s observations in paragraphs 7 and 8.

E. Incorrect. The evidence from the studies mentioned in paragraph 6 is not substantially 
supported by the personal opinions the author shares in paragraph 7 (“And if you’re going 
to be up all night studying, turn off the backlight”) or in paragraph 8 (“melt your brain” and 
“digital distractions”).

F. CORRECT. In paragraph 6, the author cites studies from 2005 and 2014 that found that 
LED screens can “disrupt sleep patterns” and that “people who used e- readers with LED 
screens at night slept worse and were more tired the next day.” Then, in paragraph 7, the 
author suggests that “if you’re going to be up all night studying, turn off the backlight,” and 
in paragraph 8, the author explains some differences between reading e- books on various 
devices. This information is not based on a personal opinion; instead, it is based on practical 
conclusions drawn from scientific evidence.

G. Incorrect. In paragraph 6, the author cites a 2005 study in which researchers found that 
“reading digitally required a higher cognitive workload than reading on paper.” Then, in 
paragraph 8, the author concludes that “reading an e- book on a computer is a much 
different experience than reading on a Kindle, which is specifically designed for consuming 
books.” Although the findings in paragraph 6 are important, they do not highlight the 
information presented by the author that digital reading experiences vary based on the 
reader and the device.

H. Incorrect. The author states in paragraph 8 that “reading an e- book on a computer is a 
much different experience than reading on a Kindle” and mentions how the same thing is 
true for “an interactive e- book on an iPad” compared with an e- book on “a simpler e- book 
device.” Readers may conclude that this statement is meant to indicate the author’s belief 
that more studies on more types of devices are needed. However, the author does not state 
or imply this belief in the passage.
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41. The question asks which evidence in the passage is most relevant to the author’s claim that 

“our expectations of e- book reading . . . might affect how we approach the text” (paragraph 9).

A. CORRECT. According to information in the passage, “kids sometimes skipped text in favor 
of interactive features” (paragraph 2) and they “remembered fewer narrative details” 
(paragraph 3). Additionally, a study found that “participants didn’t regulate their study time 
with digital books like they did with paper texts, leading to worse performances” 
(paragraph 9). This information directly demonstrates the author’s claim that expectations 
of e- book reading might be affected by how people approach the text.

B. Incorrect. In paragraph 3, the author states that e- books may be physically engaging, but 
they are also “distracting,” and readers who used them “remembered fewer narrative 
details.” While this evidence is important in helping readers understand why children who 
read e- books may comprehend less information than children who read print text, the 
evidence does not as strongly relate to the author’s claim as the idea in the correct 
answer does.

C. Incorrect. The author states that one “study of adults also found that e- books can be hard 
to absorb” (paragraph 4) and that “if you’re really trying to absorb material, you might 
want to go for a physical book” (paragraph 7). Although the evidence presented here 
provides support for the idea that retaining information from an e- book is more difficult than 
from a print book, it does not as strongly relate to the author’s claim as the idea in the 
correct answer does.

D. Incorrect. The author points out in paragraph 4 that adults “who read the story on a Kindle 
performed worse on the chronology test than the book readers.” Although this evidence 
shows how well adults can recall a series of events read in an e- book versus how well adults 
can recall a series of events read in a print book, the evidence does not as strongly relate to 
the author’s claim as the idea in the correct answer does.
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42. The question asks which sentence is the best summary of the research into the effects of 

e- book reading.

E. Incorrect. In paragraph 5, the author notes that “college students often don’t prefer” 
e- book textbooks but that more than half the children in a study reported “preferring screen 
reading.” Paragraph 3 describes a study that showed that “ ‘enhanced’ ” e- books might be 
distracting for young children. Therefore, this sentence is not the best summary, because it 
overstates the opinions of college students and implies that college students are distracted 
by interactive features, which is not discussed in the text.

F. Incorrect. According to the information in paragraph 3, children who read “ ‘enhanced’ ” 
e- books “remembered fewer narrative details than those who read print books or basic 
e- books.” A study conducted with a group of tenth graders showed that these students 
“remembered more about texts if they read them in print rather than on a computer screen” 
(paragraph 4). Although the author points out in paragraph 2 that “some interactive 
features in e- books are designed to enhance comprehension,” a study found that 
“ ‘enhanced’ e- books might be distracting” (paragraph 3). Therefore, this sentence does not 
provide the best summary of the research about e- book reading, because the author does 
not show that e- books aid in reading comprehension.

G. CORRECT. The author states in paragraph 2 that studies found that “students who read on 
iPads had lower reading comprehension than when they read traditional printed books” and 
that “e- books can be detrimental to the practice of reading itself.” In paragraph 3, the 
author also points out that a study found that “ ‘enhanced’ e- books might be distracting” 
and that children “remembered fewer narrative details than those who read print books or 
basic e- books.” Finally, in paragraph 6, the author states that “staring at a lit screen can be 
tiring for the eyes and the brain” and that “a 2005 study from Sweden found that reading 
digitally required a higher cognitive workload than reading on paper.” Therefore, this 
sentence provides the best summary of the research about e- book reading, because it 
includes accurate information about the results of the studies discussed in the text.

H. Incorrect. In paragraph 2, the author does point out that “researchers noted that some 
interactive features in e- books are designed to enhance comprehension, and that those 
might be more helpful than game- type interactive graphics.” The author also explains in 
paragraph 3 how children “were more engaged with [e- books] physically.” But because this 
sentence does not include important details about reading comprehension or the physical 
toll of e- book reading on readers, it does not provide the best summary of the research 
about e- book reading.
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Excerpt from The Highest Tide

43. The question asks what idea the phrase “the butterflies of the sea” in paragraph 3 conveys.

A. Incorrect. While the narrator does say that they “taste so lousy they don’t need camouflage 
to survive” (paragraph 3), the phrase explains that their bright appearance poses no threat 
to their lives.

B. CORRECT. The narrator describes the vibrant colors of the nudibranch in paragraph 2. Then 
in paragraph 3, the narrator says that “their beauty is so startling.” The nudibranchs are 
colorful and unique, just as many butterflies are.

C. Incorrect. The narrator describes the distinct appearance of the nudibranch but does not 
suggest that nudibranchs struggle to adapt to their environment because of this trait.

D. Incorrect. In paragraph 2, the narrator states, “I’d handled them at aquariums but never in 
the wild, and I’d never even seen a photo of one this stunning.” Although this suggests that 
the narrator has rarely encountered a nudibranch in the wild, it does not suggest that they 
are rare in the wild in general.

ER03352110_EXP_4

44. The question asks for an explanation of how selected sentences from paragraph 4 contribute to 

the overall structure of the excerpt.

E. Incorrect. These sentences set a tense and mysterious tone for what is about to happen in 
the excerpt, but they do not introduce the creature the narrator discovers.

F. Incorrect. While the narrator reveals that he is familiar with the terrain (“I knew exactly 
what the bars looked like in the moonlight”), this does not show the narrator recalling the 
past or reflecting on the present; it demonstrates the narrator’s knowledge of the mudflats.

G. Incorrect. These sentences reveal the narrator’s curiosity, which is his prime motivation for 
venturing out to the mudflats, and his familiarity with the terrain shows that at this point, 
he does not feel afraid.

H. CORRECT. The narrator creates a feeling of mystery and suspense with language that 
shows how the situation is unknown. Phrases such as “I couldn’t resist” and “I’m not sure 
why” reveal the narrator’s curiosity, as well as the tension of feeling drawn to explore the 
mudflats in the moonlight.



127

ER03352105_EXP_4

45. The question asks what the narrator’s actions in paragraph 5 reveal about him.

A. Incorrect. The paragraph begins with the narrator wondering “if a whale was stranded 
again” because of one that had gotten stuck before and had “made similar noises.” 
However, the narrator explains that he “looked for a hulking silhouette but couldn’t find 
one” before he “went toward what [he] thought [he’d] heard,” so readers can conclude that 
he continues to walk through the dangerous mudflats not because he expects to find a 
whale but because he is curious to find out what made the noise.

B. Incorrect. The fact that the narrator knows about a whale that was stranded on the mudflats 
“two summers prior” indicates that he is familiar with the area, and he does mention that 
he has some knowledge of the mudflats. However, in the paragraph, he reveals that his 
knowledge is of the dangers there: “I knew the flats well enough to know I could get stuck 
just about anywhere.” He also explains that as he moves, he avoids “stepping into the mud 
until [he] had to.” The fact that he acknowledges the danger and tries to avoid it indicates 
that he is cautious rather than confident.

C. Incorrect. In the paragraph, the narrator’s recollection that even though he could not see 
the silhouette of a whale, “still, [he] went toward what [he] thought [he’d] heard” might 
make him seem unconcerned about getting stuck. However, even as he continues, he moves 
carefully, avoiding “stepping into the mud until [he] had to” because he knows the mudflats 
“well enough to know [he] could get stuck just about anywhere.”

D. CORRECT. In the paragraph, the narrator describes the dangers of walking on the mudflats 
by stating that he “knew the flats well enough to know [he] could get stuck just about 
anywhere,” but he continues walking toward the sound. Despite knowing the dangers, he 
still “went toward what [he] thought [he’d] heard,” and this shows that he is determined to 
find out what made the sound.

ER03352106_EXP_1

46. The question asks how the setting affects the plot of the excerpt.

E. CORRECT. In paragraph 4, the narrator says that it is an hour before sunrise. It is difficult 
to see because the mudflats are dark, so the narrator, while familiar with the terrain of the 
mudflats, is cautious.

F. Incorrect. While the terrain of the mudflats is challenging because of the “wet, flattened 
dunes” (paragraph 4), the narrator is familiar with the terrain and moves carefully. In 
addition, the excerpt shows that the narrator explores the mudflats for curiosity and 
enjoyment, not work.

G. Incorrect. In paragraph 1, the narrator watches the water “hesitating at its apex” and 
“patiently waiting for the gravitational gears to shift.” This illustrates that the narrator is 
already familiar with the changes in his surroundings, that the tide is slow to move in, and 
that he can move carefully through the mudflats without the threat of rising water.

H. Incorrect. While the narrator is on the mudflats for the entire excerpt, the phrase “eyes 
relaxed” in paragraph 1 indicates that the narrator feels comfortable there. The narrator 
does not show fear until paragraph 6, when a growing fear about the unknown 
creature arises.
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47. The question asks which sentence from paragraph 5 supports the idea that the narrator is 

taking a risk.

A. Incorrect. In this sentence, the narrator is describing the exhale of a creature and his 
concern that the sound might be coming from a whale in danger. At no point does the 
narrator suggest that this is a dangerous situation.

B. Incorrect. This sentence describes a “hulking silhouette” because the narrator is searching 
for a whale that might be stranded. This expression refers to the size of the whale and not 
to any danger the narrator might face.

C. Incorrect. The narrator’s words “no more sounds” are used to illustrate his listening for 
what may be a whale. At this point, the narrator is still concerned about the possibility that 
a whale may be stranded, not the possibility of being in danger.

D. CORRECT. The idea that the narrator could become stuck in the mud of the flats means 
that the surroundings pose some danger or difficulty.

ER03352104_EXP_2

48. The question asks how the narrator’s actions, as described in the sentence from paragraph 6, 

develop a central idea of the excerpt.

E. Incorrect. The sentence highlights the narrator’s concern about sea life and the creatures 
living within the flats. However, these ideas do not develop what is being described in 
the excerpt.

F. CORRECT. The narrator “kept stepping toward the one sound,” indicating a sense of 
curiosity. However, the words “a growing part of me hoping I’d find nothing” suggest a 
rising fear or concern. Ultimately, the narrator’s curiosity outweighs his growing fear and is 
a central idea in the excerpt, as shown by the fact that the narrator does not run away 
when finally encountering the creature.

G. Incorrect. While the narrator’s descriptions of the nudibranch and other sea life demonstrate 
a knowledge of these creatures, as well as a desire to discover more in the mudflats, the 
knowledge the narrator exhibits is not what is being illustrated in the excerpt.

H. Incorrect. The excerpt does describe the narrator’s enjoyment at seeing a nudibranch in 
paragraph 2, and in paragraph 4, the narrator clearly states that there is an abundance of 
life in the seemingly barren mudflats, including “hearty clams, worms and tiny creatures 
that flourish in mud.” However, the sentence demonstrates the narrator’s curiosity in spite 
of fear, not an eagerness about or fascination with the mudflats.
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49. The question asks what the sensory language in the sentences from paragraph 8 conveys about 

the narrator.

A. Incorrect. While the narrator does not leave the mudflats and is curious about what has 
been found, the main emotions described in paragraph 8 are fear and confusion as the 
narrator tries to comprehend the size of the animal.

B. Incorrect. The language focuses on the narrator’s inability to organize what he sees into 
useful thoughts and conclusions, and while the narrator feels fear in paragraph 8—“I was 
afraid” and “I would have run”— the narrator refuses to leave the mudflats out of curiosity.

C. CORRECT. The phrase “spangled my vision” illustrates that the narrator cannot fully 
recognize what has appeared on the mudflats. The sight is so amazing, the narrator is 
trying to “fuse” together “fragments” and “pieces” because seeing the creature has created 
so much emotion in the narrator that he feels confused.

D. Incorrect. While the narrator is feeling some fear, as expressed in paragraph 8, the phrases 
actually indicate that the narrator’s amazement causes him to struggle to take in the view 
of the creature before him.

ER03352111_EXP_3

50. The question asks how the author develops the narrator’s point of view when the narrator sees 

the creature.

E. Incorrect. The author’s description of how the narrator moves toward the creature has to do 
with the terrain and the narrator’s sense of awe. The narrator’s perspective is not 
represented through how he approaches the creature; it is presented later in the excerpt 
when the narrator is studying the creature.

F. Incorrect. In this excerpt, while the narrator does discuss other large animals (minke whale, 
paragraph 5; octopi, paragraph 7) that have appeared on the mudflats, these are examples 
to show the variety of animal life that can be discovered on the mudflats, not rivals of the 
creature discovered at the end of the excerpt.

G. CORRECT. In paragraph 7, the narrator describes the largest octopi in the world and then 
states that this creature is “more than an octopus.” The narrator then states that it is 
“impossible to hear anything over the blood in my ears,” and in paragraph 8, he describes 
the creature’s body in detail, as well as his growing fear and amazement as he begins to 
realize what the creature really is.

H. Incorrect. While the narrator observes that the creature’s eye is as large as a hubcap in 
paragraph 9, a comparison to an entire car is never made. This detail is for description but 
does not give the narrator’s point of view.
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Excerpt from “It’s Time to Stop Thinking That All Non- Native Species Are Evil”

51. The question asks which sentence from the excerpt supports the conclusion that Elton’s 

“militaristic ‘invasion’ metaphor” (paragraph 1) has influenced scientific understanding of non- 

native species.

A. CORRECT. This sentence shows that of the 2,000 ecologists Olden polled, many said they 
think it is right to “immediately eradicate” non- native species plants even if they are 
demonstrably harmless in their new environment. The response of these ecologists supports 
that Elton’s metaphor discussed in paragraph 1 has influenced scientific understanding.

B. Incorrect. Rather than supporting the idea that the militaristic metaphor has influenced 
scientists, this sentence shows that conservationists, at any rate, are happy to let non- 
native species thrive wherever they can, given global warming.

C. Incorrect. While this sentence does refer to efforts to eradicate a non- native species, the 
main point of it is that these efforts ended up harming a native species (the clapper rail 
shorebird).

D. Incorrect. In contrast to supporting the idea that the militaristic invasion metaphor has 
influenced scientific understanding of non- native species, this sentence puts forth the bold 
idea of treating non- native species as something to be welcomed.

ER03232004_EXP_1

52. The question asks which detail provides the most relevant support for the claim that “climate 

change is making it harder even to decide who the invaders are” (paragraph 7).

E. CORRECT. The fact that many plants and animals have no choice but to seek out “climate 
conditions they can tolerate” (paragraph 8) makes it much harder to decide whether to call 
these species invaders.

F. Incorrect. The fact that many domestic crops are non- native species has nothing to do with 
climate change affecting our discernment of which species are invaders.

G. Incorrect. The description in paragraph 11 of native and non- native species interacting 
never suggests that climate change is a factor in these interactions and never suggests that 
climate change muddies our understanding of which species is native and which is 
non- native.

H. Incorrect. While the example of Mark Davis so thoroughly changing his beliefs about non- 
native species is a powerful one, the role that climate change might have played in this 
reversal is never discussed.
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53. The question asks what the author’s use of cause and effect in paragraphs 10–11 mainly 

emphasizes.

A. Incorrect. The examples of cause and effect discussed in paragraphs 10– 11, such as the
spartina grass helping the clapper rail and the Japanese white- eye bird pollinating Hawaiian 
flowers, are all instances in which non- native species have helped their new environments.

B. Incorrect. While paragraph 10 does mention that efforts to eradicate the non- native spartina 
grass hurt the native clapper rail shorebird, the main emphasis in both paragraphs 10– 11 is 
on the fact that certain non- native species have helped native species.

C. CORRECT. Paragraphs 10– 11 focus on several examples of non- native species that have 
helped endangered native species flourish: non- native spartina grass providing “important 
habitat for the endangered California clapper rail” (paragraph 10), non- native tamarisk 
shrubs providing nesting places for the endangered southwestern willow flycatcher 
(paragraph 11), and the non- native Japanese white- eye bird pollinating Hawaiian flowers 
(paragraph 11).

D. Incorrect. While paragraphs 10– 11 describe several interactions between non- native and 
native species, they never discuss monitoring these interactions.

ER03232008_EXP_2

54. The question asks which sentence from the excerpt supports the idea that some species are 

able to adjust to change.

E. Incorrect. This sentence discusses native gardens, featuring native species, which 
presumably have no need to adjust to change.

F. CORRECT. This sentence demonstrates that some species— in this case, Hawaiian flowers— 
have adapted well to change: the flowers thrive thanks to new pollinators.

G. Incorrect. This sentence focuses on the importance of “preventing extinctions and 
preserving biodiversity” but does not address the fact that being able to adjust to change is 
one thing that helps achieve those goals.

H. Incorrect. Far from demonstrating that some species can adjust to change, this sentence 
discusses species that were not adjusting to the loss of large tortoises and were therefore 
“on the decline.”
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55. The question asks how the details in the section “A Good Thing, Not the Only Thing” convey a 

central idea of the excerpt.

A. Incorrect. While paragraph 15 does discuss introducing non- native Aldabra tortoises to 
replace native tortoises that no longer exist, the real point of this section is to show that 
non- native species can sometimes help support native species that still exist but are 
struggling. In this case, the Aldabra tortoises are now moving seeds around for the fruiting 
plants on the islands where the tortoises have been introduced.

B. CORRECT. This section discusses situations in which non- native species should be kept (as 
in the example of the Aldabra tortoises in paragraph 15) but also asserts that “most of the 
time . . . conserving species still means focusing on supporting them in their historical 
habitats, planting natives and removing non- natives” (paragraph 16). This section makes 
the point that the issue of non- natives needs to be considered on a case- by- case basis.

C. Incorrect. This section does not claim that non- native species always or even usually 
enhance biodiversity; rather, it states that “in some cases we can best serve biodiversity by 
leaving the non- natives alone or even— brace yourself, now— introducing them on purpose” 
(paragraph 14), later adding that “most of the time . . . conserving species still means 
focusing on supporting them in their historical habitats, planting natives and removing non- 
natives” (paragraph 16).

D. Incorrect. While the section happens to give a good example of a habitat that supports both 
native and non- native species (the islands of Mauritius), it never suggests that being able to 
do so is a defining characteristic of healthy habitats.

ER03232003_EXP_4

56. This question asks how climate change has mainly affected efforts to manage invasive species.

E. Incorrect. While ecologists are now arguing for some non- native species to be left alone 
(paragraph 13), they are arguing specifically on behalf of “well- behaved” non- native species 
(paragraph 12), not non- native species in general.

F. Incorrect. While paragraph 10 describes how removing a non- native species negatively 
affected a native species, the excerpt never discusses the idea that attempts to eliminate 
non- native species might have damaged the environment.

G. Incorrect. While the excerpt refers to climate change causing plants and animals to move to 
more tolerable environments (paragraph 8), it does not specifically discuss ways to ensure 
that the arrival of these non- native species does not harm native species.

H. CORRECT. As paragraph 8 says, “plants and animals are already moving toward the poles” 
because of climate change, and ecologists recognize that those species need to do so to 
adapt “to the warmer future we’re creating.”
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57. The question asks how the chart provides additional support for a central idea of the excerpt.

A. Incorrect. The chart indicates that the public tends to become aware of non- native species 
once eradication is “unlikely or impossible,” not strictly impossible. Furthermore, this idea is 
not a central idea of the excerpt.

B. CORRECT. The chart strongly suggests that once “rapid increase in populations” of non- 
native species has occurred, eradication will be “unlikely or impossible.”

C. Incorrect. While the chart does show that non- native species can eventually be impossible 
to eradicate, it never addresses the issue of how the non- native species might be 
destructive to their new environments.

D. Incorrect. The chart shows how non- native species become harder and harder to remove as 
their population grows but does not explain how any conservation groups have approached 
their removal.
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60. (2.5) Set up a proportion to solve:

      3 _ 
16

  ×   40 _ 
3
   = x        

  
  3 _ 16   apple

  ___________  
  3 _ 40   cranberry

  =   
x apple

  _  
1 cranberry

   

    

  40 _ 
16

  = x 

2.5 = x
 

  

M170140_exp

61. (5.5) The lawn grows  2   1_
8
      inches every 

2 weeks. Find the total number of inches 

it grows in 8 weeks.

8 ÷ 2 = 4 

 4 × 2 1_
8

 4 × 2.125 = 8.5 

 The lawn was 4 inches tall at the 

beginning of the season.

8.5 + 4 = 12.5 

 Mr. Chen mows his lawn every 2 weeks 

and cuts off the top  1   3_
4
      inches. Find the 

total number of inches that are cut off 

in 8 weeks.

8 ÷ 2 = 4 

 4 × 1   3 _ 
4
   

 4 × 1.75 = 7 

 The height after 8 weeks is the total 

number of inches grown minus the total 

number of inches cut off.

12.5 − 7 = 5.5 
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62. (1) Since 110 families were surveyed, the

median will have 55 values less than or 

equal to it, and 55 values greater than or 

equal to it.

If the values in the table were listed in 

order, they would look like this:

   
⏞
 0,...,0 ,   

45
     

⏞
 1,...,1 ,   

32
     

⏞
 2,...,2 ,   

19
     

⏞
 3,...,3 ,   

8
     

⏞
 4,...,4    

6
   

The first row of the table indicates that 45 

families had 0 children.

The second row of the table indicates that 

32 families had 1 child.

So 77 families had either 0 children or 1 

child, and 45 families had 0 children.

Since 55 is between 45 and 77, the 

median must be a value in the second row 

of the table.

So the median is 1.

M890632_exp

63. (A) First, set up a proportion to determine

x, the number of goats Mr. King has.

King
 _ 

Jones
  =   x _ 

550
    

 x _ 
550

  =   100%  ___________  
100% + 10%

    

 Then solve the proportion for x.

x _ 
550

  =   100%  ___________  
100% + 10%

    

 550(100%) = x(100% + 10%) 

 550(100%) = x(110%) 

 550(1) = x(1.10) 

 550 = 1.10x 

 550 ÷ 1.10 = (1.10 ÷ 1.10)x 

 500 = x 

 Finally, determine the difference between 

the number of goats Mr. Jones has, 550, 

and the number of goats 

Mr. King has, 500.

550 − 500 = 50 

 Mr. Jones has 50 more goats than 

Mr. King. 
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64. (G) Use properties of equations to

determine the missing expression:

         
4y
 _ 

2x
   −   

y
 _ 

2x
   =   

□ _ 
2x

        

  
2y
 _ 

x
   −   

y
 _ 

2x
   =   

□ _
2x

   

  2 _ 
2

  •   
2y
 _ 

x
   −   

y
 _ 

2x
   =   

□ _ 
2x

   

  

  
4y − y
 _ 

2x
   =   

□ _ 
2x

  

  
3y
 _ 

2x
   =   

□ _ 
2x

  

   

The missing expression is 3y.

M889909_exp

65. (B) The area of square PQRS is 4 square

centimeters. So

  √   s   2      √  4        
s   2  = 4_

=
_

s = 2 cm

 Sides PS and RS are each a radius of the 

circle. So the radius of the circle is 2 cm.

 The shaded region is    1_
4
      of the circle. The 

area of a circle is  A = π  r   2  . So the area of 

the shaded region, in square 

centimeters, is

 1 _ 
4

  π ( 2   2 )  =       

1 _ 
4

  A =   1 _ 
4

  π  r   2  =

1 _ 
4

  π (4)  = π

 

  

 

 

M900208_exp

66. (H) Consider the case where  m = 1. 

n − m = 66

   n − 1 = 66   
n − 1 + 1 = 66 + 1

    

n = 67

   

 The list of integers from 1 to 67 contains 

67 numbers.
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67. (A)

   
   39 (x − 3)   _ 3    + 39

   _____________  
13

  
( )

 

Divide the first  39  by  3. 

   13 (x − 3)  + 39  ____________  
13

   

Distribute  13  through   (x − 3)  .

   13x − 39 + 39  ____________  
13

   

 In the numerator, the terms  −39  and  39  

cancel out.

   13x _ 
13

   

Finally, divide the numerator and 

denominator by 13 to get  x. 

M860040_exp

68. (G) Jar 1 starts with    1_
2
      cup of water. If    1 _ 

4
    

of its water is poured into Jar 2, then the 

amount of water added to Jar 2 

is    1 _ 
2

  ×   1 _ 
4

  =   1 _    cup.
8
   

 Jar 2 starts with    1 _
2
     cup of water. If    1_

8
      cup 

of water is added to it, then the amount of 

water now in Jar 2 

is    1 _ 
2

  +   1 _ 
8

  =   4 _ 
8

  +   1 _ 
8

  =   5 _ 
8
        cup.

M960120_exp

69. (D)  0.01 =   1 _
100

   ,  which is between    1 _
101

     

and    1 _
99

  .   

Therefore,  n + 2 = 101  and  n = 99 .

M080143_exp

70. (H) 72% of the people polled answered 

yes, so 28% of the people did not 

answer yes.

 Therefore, 56 people is 28% of the total, 

x.  

      56 (25)  = 7x            

56 _ 
x
   =   28 _ 

100
  

  56 _ 
x
   =   7 _ 

25
  

  56 (25)  _ 
7
   = x

8 (25)  = x
200 = x



139

M060250_exp

71. (A) The scale is 1 inch = 20 feet, and the

length in the scale drawing is 2 inches, so 

the actual length is 40 feet.

 960 ÷ 40 = 24 

The actual width is 24 feet.

Let x equal the width of the scale drawing,

in inches.

 

  
  1 in. _ 
20 ft

  =   x in. _ 
24 ft

   
   

x =   24 _ 
20

  = 1   1 _ 
5
   
  

M170462_exp

72. (H) There are five odd numbers in the

range 1 through 9: 1, 3, 5, 7, and 9.

 So the proportion of odd numbers in the 

range 1 through 9 is    5 _ 
9
   . 

 The expected number of odd values in the 

sequence from the computer program is

300 •   5 _ 
9

  = 166. ‾ 66 .  

 So the best prediction for the number of 

odd numbers in the sequence is 167.
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73. (D) Let m equal the miles driven during

Dalia’s rental. The total cost, c, can be 

expressed as an equation.

 c = 40 + m 

Dalia spent a total of $60, which included 

a 20% off coupon. Find the cost before 

the coupon by dividing the final cost ($60) 

by the percentage paid (80%):

   60 _ 
80%

  =   60 _ 
0.80

  = 75   

 Use $75 as the total cost to find m.

  40 + m = 75   
m = 35

   

Dalia drove 35 miles.

M960163_exp

74. (H) Start with a proportion to determine

the total number of red candies 

in the bag:

  2 _ 
5

  (25)  = r      

2 _ 
5

  =   r _
25

    

 

10 = r

 There are currently 10 red candies out of 

25 candies in the bag. After 5 red candies 

are removed, there would be 5 red

candies left in the bag and 20 

total candies.

 The probability of randomly drawing a red 

candy would then be    5 _ 
20

  =   1 _ 
4

  .  
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75. (C) First, write an equation based on the

rule described in the item. Let x be the 

previous number in the sequence and y be 

the number in the sequence. The ninth

number in the sequence is 63.

 2x + 1 = y 

Determine the 10th number in the 

sequence, y, by making  x = 63  

and solving:

   

     126 + 1 = y      
2 (63)  + 1 = y

127 = y

 Determine the 8th number in the 

sequence, x, by making  y = 63  

and solving:

 2x + 1 = 63 

 Subtract one from both sides of 

the equation.

    2x _ 
2
   =   62 _ 

2
     

2x +  (1 − 1)  = 63 − 1

    
2x = 62

x = 31

   

 Determine the 7th number in the 

sequence, x, by making  y = 31  

and solving:

  2x = 30     

2x + 1 = 31

  

2x +  (1 − 1 = 31 − 1) 

    
2x _ 
2
   =   30 _ 

2
  
 

x = 15

   

 Subtract the 7th number in the sequence 

from the 10th number:

127 − 15 = 112 

 The difference is 112.
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76. (G) The highest and lowest scores are

discarded: 8.2 and 9.0.

To find the mean, add the remaining 

scores and then divide that sum by the

total number of remaining scores.

  
8.9 + 8.5 + 8.4 + 8.6 + 8.8 =

     43.2    
43.2 ÷ 5 = 8.64

 

M110158_exp

77. (A) The original piece of wood is  

4   1 _
2
     feet long.

The shorter piece is x feet long, and it

must be less than half the length of the 

original piece of wood.

 Since half of  4   1_
2
      is  2   1 _ 

4
   , it follows that  

x < 2    _ 
4

  .1 

The shorter piece of wood cannot be

0 feet long, so it follows that  0 < x .

 This gives the compound inequality  

0 < x < 2   1 _ 
4
   . 
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78. (F) The area of the shaded region, in

square units, is the area of the triangle 

created by the shaded and unshaded 

regions minus the area of the triangle

created by the unshaded region.

The area of the triangle created by the 

shaded and unshaded regions is

200 square units.

   1 _ 
2

  bh =   1 _ 
2
   (20)(20) =   1 _ 

2
   (400) = 200  

 The area of the triangle created by the 

unshaded region is 75 square units.

   1 _ 
2

  bh =   1 _ 
2
   (10)(15) =   1 _ 

2
   (150) = 75  

 Subtract to find the area of the 

shaded region.

 200 − 75 = 125 

M080082_exp

79. (A) The highest temperature was 86° F.

F =   9 _ 
5

  C + 32 
   

86 =   9 _ 
5

  C + 32 
  

 Subtract 32 from both sides of 

the equation:

86 − 32 =   9 _ 
5

  C = 32 
    

54 =   9 _ 
5

  C 
   

 Multiply both sides of the equation by    5 _ 
9

  : 

54 (  5 _ 
9
  )  =  (  5 _ 

9
  )  (  9 _ 

5
  C) 

        

30 = C

 The lowest temperature was 68° F.

      
68 − 32 =   9 _ 

5
  C

            

F =   9 _ 
5

  C + 32 

68 =   9 _ 
5

  C + 32 

 

36 =   9 _ 
5

  C 

 (  5 _ 
9
  )  (36)  = C

20 = C

 The difference, in degrees Celsius, is 

30 minus 20.

30 − 20 = 10 
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80. (F) If x is odd, then the two even

numbers closest to  x  are   (x − 1)   and   

(x + 1)  . Find the sum of these two 

expressions:

  (x − 1)  +  (x + 1)  = 2x 

M950033_exp

81. (B) The question asks for the amount of 

the public debt per person, so divide the 

total public debt by the number of people.

        
3,600,00 0 , 0  0  0 , 0  0  0 

   ________________  
25 0 , 0  0  0 , 0  0  0

   =      

  
3,6000,000,000,000

   _________________  
250,000,000

   =

 

  
360,000
 _ 

25
   = 14,400

 

 The amount of the public debt per person 

was about $14,400.

M890702_exp

82. (E) These facts are given:

 • N is the midpoint of    MQ  .‾
•   MN‾    has a length of x centimeters.

• MP‾ has a length of y centimeters.

 Use the first two facts to determine that   

‾ MQ   has a length of 2x centimeters. So (2x

- y)

 

can be represented by MQ−MP,

which is    PQ  .‾

M060247_exp

83. (B) To find the area of a parallelogram, 

multiply the length of a side by the 

altitude for that side.

 One property of parallelograms is that 

opposite sides are the same length.

 So the bottom side of the parallelogram is 

30 feet long and has an altitude of 20 feet.

 Therefore, the area of the parallelogram, 

in square feet, is  

A = bh = 30 × 20 = 600 .
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84. (H) Let t represent the number of loaves

of bread produced on Tuesday.

First, determine the number of loaves of 

bread produced on Tuesday, t, using the

number of loaves produced on 

Wednesday,  t + 100 , the number 

produced on Thursday, t − 50, and the

total number produced on these three 

days, 230:

             3t +  (50 − 50 = 230 − 50)              

t + t + 100 + t − 50 = 230

 

t + t + t + 100 − 50 = 230

 
3t + 50 = 230

3t = 180
 (3 ÷ 3) t = 180 ÷ 3
t = 60

  

Next, determine the number of loaves of 

bread produced on Wednesday,  t + 100 , 

when  t = 60 :

 t + 100 = 60 + 100 = 160 

The number of loaves of bread produced 

on Wednesday is 160.

M050189_exp

85. (C) First, find the total number of

students who took the quiz.

9 + 7 + 4 + 5 + 3 = 28 

 Multiply each quiz score by the number of 

students who received that score. Add 

those products together to find the total 

number of points scored.

(60 × 9)  +  (70 × 7)  +  (80 × 4)  +
      

(90 × 5)  +  (100 × 3)  = 2,100
   

 To find the mean quiz score, divide the 

total number of points by the number of 

students who took the quiz.

2,100 ÷ 28 = 75 
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86. (E) Use the properties of equations to

solve the inequality for  x .

 x + 4 ≥ 3 

Subtract 4 from both sides of the 

inequality.

 x + 4 − 4 ≥ 3 − 4 

 x ≥ −1 

The graph of  x ≥ −1  will have a point at  

−1  and will include all values that are 

greater than, or to the right of,  −1 . The 

greater than or equal sign is used, which 

indicates that the solution includes  −1 . So 

the point at  −1  will be solid. Option E is 

the correct answer.

M950155_exp

87. _1   
4

(A) The reciprocal of    is added to the    

reciprocal of 3.

4 _ 
1

  +   1 _ 
3

  =   12 _ 
3
   +   1 _ 

3
  =   13 _ 

3
      

 _3       .  
13

The reciprocal of this sum is 
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88. (E) Nura’s poster is square, so all the side

lengths are 13 inches. The area, in square 

inches, is

 A =  s   2  =  13   2  = 169 

Latrice’s poster is square, so all the side 

lengths are 15 inches.

 A =  15   2  = 225 

Subtract to determine the difference 

between the areas.

 225 − 169 = 56 

The difference, in square inches, is 56.

M170104_exp

89. (B) The unit rate for cups of oats per cup

of water can be found by dividing the 

number of cups of oats by the number of 

cups of water:

  2 _ 3  
 _ 

3  1 _ 4  
   

 The denominator can be rewritten as    13 _ 
4
   .

 The quotient    
  2 _ 3  
 _

  13_
4  
 
  
    can be rewritten as:

    2 _ 
3

  ×   4 _ 
13

  =   8 _ 
39

  .   

 Therefore, the unit rate for cups of oats 

per cup of water is    8 _ 
39

  . 
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90. (H)   (  3 _ 
5

  −   1 _ 
2
  ) x =   1 _ 

4
  +   2 _ 

3
     

Rewrite with equivalent fractions that have

like denominators.

      (  6 _ 
10

  −   5 _ 
10

  ) x =   3 _ 
12

  +   8 _ 
12

        

 (  3 × 2 _ 
5 × 2

  −   1 × 5 _ 
2 × 5

  ) x =   1 × 3 _ 
4 × 3

  +   2 × 4_
3 × 4

      

     

 (  1 _ 
10

  ) x −   11 _ 
12

  

  

Multiply both sides of the equation by 10.

  
10(  1 _ 

10
  ) x = 10 (  11 _ 

12
  ) 

    
x =    _ 

12
   =    _ 

6
  110 55
   

M040191_exp

91. (A) The increase in sales tax

percentage is

 7.5% — 7.0% = 0.5%

0.5% of $200 is

(0.5%) (200) = (0.005)(200) = 1 
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92. (F)

  | (−8)  − 12 +  (−17)  −  (−31) |  −  |24|  

Simplify negatives inside the first absolute 

value brackets.

  |−8 − 12 − 17 + 31|  −  |24|  

Simplify the first absolute value.

  |−6|  −  |24|  

Calculate the absolute values.

 6 − 24 

Perform the final subtraction.

 6 − 24 = −18 

M970128_exp

93. (B) First, use the information given in the

table and properties of equations to 

determine the value of k:

8k + 30 + 30 − 2k + k + 5 = 100

      

8k − 2k + k + 30 + 30 + 5 = 100

      
7k + 65 = 100

   
7k +  (65 − 65)  = 100 − 65

     

7k = 35

   

k = 5

   

 Then, determine the percentage of cell 

phones sold that were blue by finding the 

value of the expression  30 − 2k  (given in 

the table), when  k = 5 : 

30 − 2k = 30 − 2(5) =
     

30 − 10 = 20
   

 The percentage of cell phones sold that 

were blue is 20%.
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94. (E) First, find the distance between X and

Z by adding the distance between X and Y 

to the distance between Y and Z.

 1 + 2 = 3 

Since the distance between X and Z is  3 ,

the midpoint between X and Z is

 

 1   1 _ 
2

  . 

 The midpoint between X and Z is  1   1 _ 
2
   , and 

the distance between X and Y is  1 . The 

distance between Y and the midpoint of X 

and Z is  1   1 _ 
2

  − 1 =   1 _ 
2

  .  

M030083_exp

95. (B) Subtract to determine the amount of 

the increase.

 1.35 − 1.25 = 0.10 

Divide the increase by the original price.

 0.10 ÷ 1.25 = 0.08 

Multiply the quotient by 100 to express

the decimal answer as a percent.

 0.08 × 100 = 8 

M000026_exp

96. (G) Surface area is found by calculating

the area of each side, including the base, 

and adding them all together.

The base of the pyramid measures

10 inches on each side, so the area of 

the base is

10 × 10 = 100 

 Each triangular face has a base of 

10 inches and a height of 12 inches, so 

the area of each face is

1 _ 
2

  × 10 × 12 = 60  

 There are 4 triangular faces (because the 

square base has 4 edges, each of which 

will have a triangular face). So the total 

surface area of the pyramid is the sum of 

the areas of 4 triangles and 1 square.

(4 × 60)  + 100 = 240 + 100 

 So the total surface area is 

340 square feet.
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97. (B) Use the percent increase expression

to find the answer:

  
  
new price − original price

   _____________________   
original price

  
    

  6.75 − 6.25  ___________  
6.25

   =   0.50 _ 
6.25

  = 0.08 = 8% 
  

M860053_exp

98. (G) If the mean number of points for the 

first four games is 7, the total number of 

points earned in those games is 28.

 4 × 7 = 28 

If the mean number of points for all five 

games is 8, the total number of points 

earned is 40.

 5 × 8 = 40 

To find the number of points in the fifth 

game, find the difference between 

40 and 28.

 40 − 28 = 12 

M830180_exp

99. (B) First, find the amount, in dollars, that

Lian paid for each orange. There are 4 

bags with 8 oranges each.

4 × 8 = 32 

 Divide the total cost by the total number 

of oranges to get the cost per orange:

11.52 ÷ 32 = 0.36 

 Multiply to find the cost of 42 oranges:

0.36 × 42 = 15.12 

M970201_exp

100. (H)

3.6 _ 
0.018

  ×  (  
1,000
 _ 

1,000
  )  =   

3,600
 _ 

18
   = 200  
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101. (C) If 5 gallons of water is added to the

tank per minute for 45 minutes, then  

5 × 45 = 225  gallons is added 

to the tank.

 The tank started with 75 gallons of water 

in it. After the 45 minutes, it contains  

75 + 225 = 300 gallons, assuming no

loss of water.

 The tank has a capacity of 500 gallons, 

and    300 _ 
500

  = 0.6 . 

 Rewrite decimal 0.6 as a percentage:

  0.6 =   6 _ 
10

  =   60 _ 
100

  = 60% .  

M890006_exp

102. (H) Each strap requires  1 1_
4
      yards of 

ribbon, and ribbon costs $5.00 a yard.

  1   1 _ 
4

  × 5 =   5 _ 
4

  ×   5 _ 
1

  =   25 _ 
4
   = 6.25 ,    so 

the ribbon for each strap costs $6.25.

 Misha wants to make 2 straps.

  6.25 × 2 = 12.50 , so the cost of the 

ribbon for 2 straps is $12.50.

M170116_exp

103. (B) The graph represents a proportional

relationship, which means the y- intercept 

of the graph is (0, 0).

 This means that the point   (1,    5 _ 
4
  )   

represents the unit rate for this situation.

In this situation, x represents the number

of questions answered correctly, and y 

represents the number of points received.

 Therefore, for each question answered 

correctly, the student receives    5 _ 
4
   , or  

1   1 _ 
4

  ,  points.

M060263_exp

104. (E) In the survey, 45 out of 200 adults 

reported reading the online version of the 

Waskegon Bulletin, and there are 25,000 

adults living in Waskegon. Set up a 

proportion to find the number of adults 

who read the online version.

   
x =   

 (45)  (25,000) 
  ___________ 

200
   =    

(45)  (125)  = 5,625

   

45 _ 
200

  =   x _
25,000

    

 Rounded to the nearest 100, this 

number is 5,600.
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105. (C) There is a proportional relationship

between the number of miles traveled, y, 

and the number of days hiked, x.

   
  
y
 _ 

x
   =   17 _ 

3
  
   

y =   17 _ 
3
   x

  

So the equation  y =   17 _ 
3
   x  describes the 

relationship.

M840026_exp

106. (E) The distance from Carolyn’s house to 

the grocery store is  3 + 2    _ 
2

  = 5    _ 
2
    1 1 miles.

Carolyn walked  1   2 _
3
     miles back, so she still

had 

 

 5   1 _ 
2

  − 1   2 _
3
      miles left to walk home.

  
5   1 _ 

2
  − 1   2 _ 

3
  =   11 _ 

2
   −   5 _ 

3
    
    

  33 _ 
6
   −   10 _ 

6
   =   23 _ 

6
   = 3   5 _ 

6
  
  

So Carolyn had  3   5 _
6
     miles left to 

walk home.

M170001_exp

107. (C) Set up a proportion to solve.

    
5 _ 
4

  =   1 _ 
3

  x
    

  
1  1 _ 4   in.
 _ 

  1 _ 3   yr
   =   x in. _ 

1 yr
  

  

1   1 _ 
4

  =   1 _ 
3

  x  

  
 

(  3 _ 
1
  )  (  5 _ 

4
  )  = x

  

15 _ 
4
   = x

 

3   3 _ 
4

  = x 

  

M950018_exp

108. (F)

3 (0.01)  − 3 (0.1)  =    
0.03 − 0.3 = −0.27
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109. (B) Rewrite the mixed numbers so that

they all have equivalent denominators.

  
10  1 _ 

2
  +  (−5   1 _ 

3
  )  −  (−2   3 _ 

4
  )  

     
10  6 _ 

12
  +  (−5   4 _ 

12
  )  −  (−2   9 _ 

12
  )  

  

Subtracting a negative is the same 

as adding.

 10  6 _ 
12

  − 5   4 _ 
12

  + 2   9 _ 
12

     

 Group the whole numbers together and 

the fractions together.

       (10 − 5 + 2)  +  (  6 _ 
12

  −   4 _ 
12

  +   9 _ 
12

  )       

7   11 _ 
12

  

   

10  6 _ 
12

  − 5   4 _ 
12

  + 2   9 _ 
12

    

  

M170208_exp

110. (G) Find 5% of 350.

   (5%)  (350)  =  (0.05)  (350)  = 17.5       
350 + 17.5 = 367.50

 

M170154_exp

111. (B) The probability of the event is 0.05,

which equals 5%, which is less than 50%.

 Option A:

An event that is likely has a

probability over 50%.

 Option B:

An event that is unlikely has a probability

less than 50% but greater than 0%. 

 Option C:

An event that is impossible has a 0%

probability.

 Option D:

An event that is neither likely nor unlikely

has a 50% probability.

M170504_exp

112. (G) Divide the number of cups of blue 

paint by the number of cups of red paint 

to find the constant of proportionality.

1.5 _ 
1
   =   6 _ 

4
  = 1.5  

 Multiply to find the value of y.

11 × 1.5 = 16.5 
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113. (C) To find the midpoint of a segment,

subtract the value on the right from the 

value on the left and then divide by 2. 

Then add the result to the value on the

left of the segment.

Find the midpoint of   ‾ PQ  :

    1 −  (−3)  = 4
 

 4 ÷ 2 = 2  
2 +  (−3)  = −1

 

Find the midpoint of    QR  :‾

     

    6  2  3     
7  1 6− =

÷ =
3 + 1 = 4

 The distance between  −1  and  4  on the 

number line is  5  units.

M170507_exp

114. (F) There is a proportional relationship

between the cost and the number of cups 

of ice cream.

Divide the cost by the number of cups of

ice cream to find the constant of 

proportionality.

48 dollars ÷ 16 cups  
= 3 dollars per cup

        
12 dollars  4 cups  
= 3 dollars per cup

÷        

 The constant is the cost per cup, 3 dollars.



156

Form A
Sample Test – Answer Key

You can read explanations for each answer online here. If you are in Grade 9, you can find examples of
additional types of math content you might see on your test here.

Answer Key for Sample Form A

1. B
2. E
3. B
4. H
5. B
6. F
7. B
8. G
9. D
10. G
11. D
12. E
13. D

14. F
15. C
16. G
17. A
18. E
19. D
20. H
21. D
22. G
23. D
24. F
25. A
26. H

27. C
28. H
29. C
30. H
31. D
32. E
33. B
34. E
35. B
36. E
37. D
38. H
39. A

40. F
41. A
42. G
43. B
44. H
45. D
46. E
47. D
48. F
49. C
50. G
51. A
52. E

53. C
54. F
55. B
56. H
57. B
58. -0.4
59. 150
60. 2.5
61. 5.5
62. 1
63. A
64. G
65. B

66. H
67. A
68. G
69. D
70. H
71. A
72. H
73. D
74. H
75. C
76. G
77. A
78. F

79. A
80. F
81. B
82. E
83. B
84. H
85. C
86. E
87. A
88. E
89. B
90. H
91. A

92. F
93. B
94. E
95. B
96. G
97. B
98. G
99. B
100. H
101. C
102. H
103. B
104. E

105. C
106. E
107. C
108. F
109. B
110. G
111. B
112. G
113. C
114. F


